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SN CARBMSSES ANBEAR
N ZZCAB 29

- B(EN) - NRAY - B S il &t o il
O I (GHPLEHP) 22l
1,200,000 = 12& 14,400
SN olZet A3t 980,622
B2 HH| 726,062
Ar2 2tel 61,446
OB0otE Al ATEYNH Al 26,420
OPCE 28,000& * 500 14,000
OMB & (Windows Server) 400,0009 * 12&2 4,800
OMB & (Linux Server) 750,000& * 9& 6,750
OAhnLab Policy Center 870,000& = 12 870
oPcE AZEN 20,800
OMicrosoft Office Standard 2018
420,000 * 30& 12,600
OstE U A 2020 &2 220,000& * 30& 6,600
OLEXTSEH 12.0(A2t2t0ldA)
16,000& * 100 1,600
OQEHYANEIA ZOO AIEZ
140,000 * 14 140
OZHOIX a¥els 082
5,000,000& * 14 5,000
OAE 00l EIAIE 2 500,000& * 14 500
O MZOAMAE 3,000,000 * 14 3,000
OABIES N 2t EX 2,700
OsE csd 1,000& * 1,3000H 1,300
O8g=+9% 70,000& * 2004 1,400
OADEEZAM Ot2A2FHI 1,110& » 2,600 2,886
S=2Zl 664,616
O MSCIAIAE H/W,S/W KX &2l (415)
4,620,000 * 123 55,440
OZAZ UEHIA & 2ot&H K22 (315)
6,040,000% * 12& 72,480
ORFID AlAE S22l (1302, 145)
11,555,000& » 12& 138,660
OEHOIXl =X22el(13%H)
1,266,000& » 12& 15,192
OXFBSHA 28 L 2UAH A2l (13
L) 1,700,000& = 12& 20,400
OPC & Z2lf A2l (13MA)
3,500,000 = 12& 42,000
OSXNESMHIA 22 (13 4)
2,000,000 * 12& 24,000
OLEIAG L TAHEBAHA MEIH AIEE2
22,500,000 * 12& 270,000
OU-A0IEEES M A&l (3A)
1,762,000& » 12& 21,144
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el EEAYCAHBO BR2Y CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXFESAA UPS BHE{2l 1WAl 5,300,000& 5,300
206 M = Hl 2,520 2,520 0
01 X2 Hl 2,520 2,520 0
OYsSS A AL 2] X 2,520
ogs L SA Hol2 6,000& = 400m 2,400
OANEENE AEIA 60& * 2,0000H 120
207 O 4| 27,000 22,000 5,000
02 & AP Y| 27,000 22,000 5,000
OMZBLEM AIAE 25 27,000,000& 27,000
401 Al HI YL 2 0HHI 12,000 12,000 0
01 Al&H| 12,000 12,000 0
OCAME HERKZ L SAZA 12,000,000& 12,000
405 XHo&HF S HI 213,040 233,610 N 20,570
01 JHAY 2 E F S H 205,540 226,110 N 20,570
O #HEMAFEE WX 50,500
OZEH 1,400,000& * 30CH 42,000
O™ X= AL 5,500,000& = 1CH 5,500
Oswomely 600,000& = 5CH 3,000
OLE: WEHIAEH ux 54,400
OkLZ: 3 A4 11,000,000 = 34 33,000
Ooks: 12 A2 2,600,000& * 74 18,200
ozE2= 100,000& = 3204 3,200
OEM& =% RFIDAH] WA 97,040
odAazaEzH/eol" 2,730,000 = 4CH 10,920
OXststete D] 26,310,000& = 2CH 52,620
ORZEAIMNY 500,000& = 2CH 1,000
S oIBtE | 27,000,000& * 1CH 27,000
O3 ASZEH 2,750,000 = 2CH 5,500
ONXEUHEZ EHEHHEH 2L
200,000& = 18CH 3,600
02 EAFH| 7,500 7,500 0
OU-ADIEZ A2 TN
12,500 * 200 * 30 A 7,500
A2 BY 227,880 237,928 A 10,048
201 Bt A H| 15,340 15,248 92
01 At 22l b 1,840 1,748 92
OZEcHItE= 70,000 * 1204 840
OSSN 2 IM=L 10,0008 * 1008 1,000
03 A2 H H 13,500 13,500 0
OO It 22 H & 34
1,000,000 * 40 2 4,000
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ool BFEARTAZY B2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OOtz SEZ2™ 500,000& * 8 A& 4,000
OX2EN2 2ERNUSE
500,000& = 3Y = 23] 3,000
oddg 2I NS 150,000& * 102/ 1,500
ORSTNT SYWI AA+Y
100,000& = 53 » 2¢ 1,000
206 M= Hl 2,500 2,500
01 =8l 2,500 2,500
OHF S= BSC A CAHERISE
500& * 1,000& = 50 2,500
301 LBEAZ 960 960
09 SALEHIX A S 960 960
OXSE M2 HAXNASALA SAH|
8,000& = 30 = 43| 960
307 21201 A 98,940 110,580 A 11,640
02 QItFAAHE X 98,940 110,580 211,640
OXST N AZH X3 (ASS)
4,000,000& * 502 * 97% 19,400
OXST N AZH K& (BSS)
3,000,000& = 1704 = 97% 49,470
OXR2T AN EEZZ21H2FH XA
1,000,000& = 1004 = 97% 9,700
OX2ENMZ SHASO2IXAH K&
1,000,000& * 5JH 4 * 97% 4,850
OXNSTAZ HTZ AKX
16,000,000& * 97% 15,520
402 RI2EXt20l M 108,640 108,640 0
01 QU2 X2 AP B2 2= (REHIXH &) 108,640 108,640 0
OXRSTH TAH L AN
4,000,000 * 2804 * 97% 108,640
405 TtabF S| 1,500 0 1,500
01 AL EFH S 1,500 0 1,500
OXRSTHD 2AUE 01SA ¥
1,500,000 * 14 1,500
N2 M& T8 XA 67,500 67,500 0
< 20,250
Al 47,250
405 RHoHE S HI 67,500 67,500 0
< 20,250
Al 47,250
02 = A=l 67,500 67,500 0
o2 M THTY XS (ZHHE)
67,500,000& 67,500
< 20,250
Al 47,250
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L= B

el

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
M2 HE2st 45,781 47,523 A1,742
201 £B-2d| 40,781 42,523 A1,742
01 At 22l 24,431 26,173 A1,742
OTHZEM 40 H A
70,0003 * 14002 = 95% 931
OANEHARE 29
100,000& * 10 » 8% 8,000
OZHE E22E X
20,0003 = 20000 = 95% 3,800
OSHEE ST B 100,000& * 204 2,000
O=AM& AKX M
4,000& * 2,0008 = 95% 7,600
OZM2 AAX FNZ(HEEI)
300,000& » 79H 2,100
02 2324l 2,000 2,000 0
OX= Hol= TA 93 3/t
2,000,000& 2,000
03 &Ar2 I 14,350 14,350 0
OFFAN B2 SNIY 29
1,000,000 =+ 93l 9,000
O&HEFA NEEA2 ZHEZS 5,350
OFMEERS EEHE4Y
500,000& = 109H 5,000
OFMEES Y 70,000& = 54 350
203 R =&l 5,000 5,000 0
03 A F=XH S =AY 5,000 5,000 0
OENM2 2F HRFA 5,000,000& 5,000
M2 Ch2st Pl A RI& At 5,800 5,800 0
= 4,000
Al 1,800
201 Let24d]| 5,800 5,800 0
= 4,000
Al 1,800
03 & Ar2 Gl 5,800 5,800 0
©20218 T A2 TEsAMHIA XT3 AL
5,800,000& 5,800
= 4,000
Al 1,800
ASUI MElA 199,290 103,433 95,857
201 L2l 183,990 93,033 90,957
01 At 22l 2,100 2,565 A 465
ONSUX MHIA HAES(2EIHES)
100,000& * 2102 2,100
02 2324l 181,890 90,468 91,422




SH CHBHMSSEE ANYCAHDB
HH: ZTCHY 2Y
el EEAYCAHBO BR2Y CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OAMSUX MBIA S22
8,590,000& * 2174 4 180,390
ON=ASUIMEIA bl K&
3,000& = 50021 1,500
301 dEtE2dZ 15,300 10,400 4,900
12 JEtE &2 15,300 10,400 4,900
ONSUX H2TAHS UIASAMA S2s4Y|
20,0003 » 2559 * 3JH A 15,300
HE=SMHUH 100,000 0 100,000
201 L2 Y| 95,200 0 95,200
01 At 22l Yl 300 0 300
O=HIgHES HIE 300,000& * 13 300
03 SHALS H I 94,900 0 94,900
OMeA & =E2MHME 29 5,000,000& * 13 5,000
oZdH 29 = 1,000,000& = 63l 6,000
039 29 ¢ 1,000,000& = 133 13,000
OstsXLyd 29 =& 2,000,000& * 13 2,000
OMEZ=z]Y 29 ¢ 200,000& * 103 2,000
oZzI)¥ M&H| 150,000& * 203/ 3,000
ONA 29 3,000,000& * 13 3,000
o=s:2 ¥ MERA 29 400,000& = 504 20,000
ORAHX & AME Xt 20,000,000 20,000
OHYAIZE E 19,000
O+ H& 100,000& * 3074 3,000
OclZ8 & ZTAH HA 11,0008 * 7,000& 7,000
O=82=2 M& 2,000& * 3,000 6,000
O=ZHOIX HH 3,000,000& 3,000
OJIEt sH 29 1,900,000& 1,900
301 dEtE2dZ 4,800 0 4,800
09 HALAHIXI &= 2,800 0 2,800
OE#AI 2H KNGS AL &bl
20,000& * 100YH 2,000
O#A EHAX SAHI 8,000& = 100Y 800
12 JIEtE &2 2,000 0 2,000
OAlIBl 882 =43 200,000& « 1094 2,000
delE 2 2e2d 517,680 684,000 A 166,320
308 AHXI S M SO0l & 517,680 684,000 A 166,320
11 SISO USHE AR E A 517,680 684,000 A 166,320
ogelE2 29 43,140,000& = 12& 517,680
NEEAZ 29 713,118 705,939 7,179
ANEEM2 IEES 162,230 147,725 14,505




SH CHBHMSSEE ANYCAHDB
M ZDCHDY 29
el NRIEAE 29 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
201 Bt A | 75,830 61,325 14,505
01 AP 2t 2l Yl 75,830 61,325 14,505
oO&FJIIZHE =EF 23,583
O 15,000& * 220HAF * 128 * 95% 3,762
O X & Xl 13,000& * 190HAF » 128 % 95% 2,816
OF2HX 5,000& * 13IHAF * 523 % 95% 3,211
O& 2K 11,000& * 11000 AF = 128 * 95% 13,794
O=Ue3 X =22t HIoIeHmOolA H2E 0|82
8,250,000& * 13 8,250
OVOD AHIA A2 0lE& 1,573,000& * 13 1,573
OFXH 2t 022 (RSY)
1,000,000& = 12& 12,000
OFXEX 2t 0l82(F*=€) 18,000,000 18,000
ONMXNAHE =S (2L 2) 100,000& * 50& 5,000
ootz x=dl 1,160& = 6,400 7,424
206 M= Hl 6,400 6,400 0
01 & bl 6,400 6,400 0
OAMN H2ES 6,400
ORFID TAG 500 * 6,4000H 3,200
Octd Sk S 93 500& * 6,400H 3,200
405 XH&HF SHI 80,000 80,000 0
02 &M+t 80,000 80,000 0
OE A 80,000
OLEE A 12,500& * 6,400 80,000
AMNEEAS ST 29 53,510 52,710 800
201 Bt A | 48,110 48,110 0
03 S AtS H I 48,110 48,110 0
OZAHZ 28Z270% 29 40,910
OBA+E
35,000& * 2A12F = 22Jl Bt * 243] 36,960
(@)= 70,000& * 1504 1,050
Oos=239 2,900
-2 &X 1,500,000& = 13] 1,500
-5 oA 70,000& * 204 1,400
OSA=EA E20dH 29
35,000& = 2Al2F = 503] 3,500
O M =2t AL 1,200,000& = 13 1,200
OSsS MY A 2,500,000& * 13 2,500
206 M = Hl 1,800 1,800 0
01 & bl 1,800 1,800 0
O2EZTz 1Y 29 M=Hl
300,000& * 3F * 23| 1,800




SH CHBHMSSEE ANYCAHDB
M ZDCHDY 29
el NRIEAE 29 CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
301 €EtE2 N = 3,600 2,800 800
09 HAAHIXES 3,600 2,800 800
O=23ZZ2 8 HISALA =4
8,000& = 208 * 10€ 1,600
OMsSIE XIS ALK AHIX2
20,000& = 108 = 102 2,000
NEEZAZ 2284 29 36,640 32,673 3,967
201 2Bt2 ] 5,160 2,093 3,067
01 At 22l bl 4,350 1,283 3,067
OXd=T A3 FItH|
100,000& * 6& = 13 600
OXNESAA HESES 15,000& * 504 750
O=A2 OIsHU cIEA 2,500& » 400% 1,000
OsSM=2E 2,000& » 500% 1,000
OYLreE EHIAMHI A 5,0008 = 200H 1,000
02 524t 810 810 0
O g2l 810
Ost=2= A& 360,000 360
O3 A 450,000& 450
206 M =8l 19,000 18,100 900
01 = dl 19,000 18,100 900
OMIIE=SNHE 3,000& = 3004 900
ONES A AQTAIAHES 100,000& * 104 1,000
OEMd 22 H¥ 150,000& * 102 1,500
ORFID EHO(E2=+8) 500& * 5004 250
oxXsusEegll 2 &K
3,000& » 2002 600
oM2UI(HEUESR) 40,0008 = 200K 800
OAE" JlgtA 20,000& * 254 500
OUE3AS 6,500
ousslzEs 1,500& = 3,0004 4,500
OJteel2 80,000& 204 1,600
Osl&3aeld 10,000& * 40H 400
OXEM=Z 10,0003 * 504 500
OFINIAAE=E AEIH 1,000& = 2,000 2,000
OZENZH 2E M 3,150
@)= 35,000& * 20H 700
O2IEE 15,000% * 207H 300
Olt®RA 15,000& * 104 150
OosleA(ovoZ & 8) 50,000& * 40H 2,000
oztZeHE EX 20,0003 » 5%t A 100
OMASI| #Z Wi  300,0008 * 204 = 23| 1,200




SN CHRBMSEZE AYCHR
IM: BTSN 2
Selr NEEAE 29 (B9 ®R)
= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 12,480 12,480 0
09 HALAHIX RS 12,480 12,480 0
OXZSALX E#=4H
20,0003 = 6¥ = 104 12,480
M= dIANU2SHN 92,755 93,255 A 500
201 Let249] 82,655 84,055 A 1,400
01 At 22/l 855 855 0
OMIEDM WM 3,000& = 3008 * 95% 855
03 &Ar2 I 81,800 83,200 A 1,400
OUHEEZAM 12,500& * 5,000 62,500
OUEEMN B2 AEA 300& = 5,0000H 1,500
O&ELA HAHIE 8,000,000& = 13l 8,000
o2d+g 9,800
OUWEEZAM HItZg
700,000& = 3H « 23| 4,200
OEE3 MY 35,0003 * 2AI2F = 803 5,600
206 M= Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OZ2IY 29 428 ¢
200,000& = 103l 2,000
301 LEtEBH S 8,100 7,200 900
09 HALAHIXI &3 7,200 7,200 0
OMY=HZE BA HAK S
8,000& * 20 = 203/ 3,200
OMASHFE NAZAX At
20,000& = 20& = 103l 4,000
12 JIEE 43 900 0 900
o=z 22 50,000& = 18H = 13l 900
&g N22Y 367,983 369,693 A1,710
201 et 1,358 1,443 A85
01 At 22l 1,358 1,443 A 85
onaz7=l 1,160& = 1,170& 1,358
307 glz2tol & 352,000 352,000 0
05 RIZHRI & 3 352,000 352,000 0
QJIEHAENZ 2Y 352,000, 000& 352,000
405 TtHabF S| 14,625 16,250 21,625
02 = A=l 14,625 16,250 A1,625
O&A 12,500& * 1,170& 14,625
HEaE M2 i 1,306,475 0 1,306,475
2= M2 JH2=H| 782,375 0 782,375




SN CNRBASSEE AYCHR
HY: ZRCNB 29

©e NESE A 2 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L Er2 A | 44,480 0 44,480
01 ArR 22l 35,480 0 35,480
OSMBIAIAY (LIA) 2ol A
6,000,000& = 1= 6,000
OANSE FZ 2ZEY0N P& 27,480
OMicrosoft 0ffice Standard 2019
420,000 * 422 17,640
OstH2I A 2020 220,000 * 42& 9,240
OstE=Zeta 9.0 40,0009 = 15&2 600
OZHEIIHI(SIHH U2 &F)
2,000, 000& 2,000
03 A2 HHI 9,000 9,000
O 24 9,000, 000& 9,000
207 A o0 20,000 20,000
02 & A 2| 20,000 20,000
ONZ2+E & SHOIX #=5 20,000,000& 20,000
401 Al HIZ 20| 100,000 100,000
01 Al&HI 100,000 100,000
OEAMZ HESRIZA SAM 20,000,000& 20,000
OS A& HII&Hl SBA 20,000,000& 20,000
OaANZt EHMEZALAY 25 50,000,000 50,000
OARlE M 10,000,000 10,000
405 XtabE SHI 617,895 617,895
01 &L EZFHSH 617,895 617,895
OARE HEH 7 90,000
O E=] 1,400,000& * 4204 58,800
OZgle(MEEsEW) 600,000& * 9CH 5,400
OZEe(A3dE2d) 3,500,000 = 1CH 3,500
OX = AL 5,500,000 = 1CH 5,500
OLE= 1,500,000 = 2CH 3,000
oy 200,000& * 1CH 200
o234 500,000& * 2CH 1,000
oA 600,000& * 1CH 600
O& 3| 600,000& * 20CH 12,000
O&E M2 RFIDEHl ¢ 323,840
Ofelety D] 49,000,000 = 1CH 49,000
Ottt £ 71 47,460,000 = 1CH 47,460
OANMEBUHAIECIEH/2HOIE DI
2,730,000& = 7CH 19,110
OXsSUERIEII(H28)
26,360,000 = 4CH 105,440




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXtsUsEetdll(ot=E)
24,610,000 204 49,220
Og=34)| 600,000& = 9CH 5,400
OMASI(UHE) 9,000,000& = 1CH 9,000
OHASI(AE) 7,000,000& =« 1CH 7,000
OHt2&E=gH 1,650,000& = 1CH 1,650
OBt2&elH 2| 190,000 * 9K 1,710
OsldE&E=4)| 2,950,000& = 304 8,850
TN Y ENEE ER2I8 7Y
20,000,000& * 1MIE 20,000
OYIZZHH(0ISEH) 3,500,000& =« 1CH 3,500
©6521 Xl LED TV(2SBA &)
1,600,000& * 2CH 3,200
OH=S3 HoEtE DI 15,000,000& = 1CH 15,000
OHSHZHFH(VEXNUHHE)
500,000& * 20CH 10,000
(OFSPNR Rt 8,000,000& =« 2CH 16,000
OX T2 E Xt 5,000,000& =« 1CH 5,000
o)+ & &I +¢ 151,355
o1erE ArSe 250,000& = 104 250
02018 A8 450,000& = 404 1,800
O2&t HHIH 200,000& = 114 2,200
O3 g It 800,000& = 14 800
O5& IHHIA 350,000& = 2804 9,800
O5¢ HHIR(EEH) 180,000& * 8JH 1,440
oZal 400,000& = 3K 1,200
ousetggdsEx® J1J] 700,000& * 204 1,400
OZ Mt TH 300,000& = 404 1,200
O=EMECE &Y 300,000& = 64 1,800
OARet e 700,000& = 14 700
H2U)| 2 (SEH)  250,000& * 1104 2,750
O2E)| SE(=SE) 350,0008 = 1304 4,550
OZH AtalA 400,000& = 14 400
OAMIHE e Y 55,000& = 114 605
OA2Tp&A 450,000& = 1404 6,300
OA2ItH0I = 400,000& * 14 400
O=ZE2XR 150,000& * 80H 12,000
Ox=2EM4 400,000& = 4004 16,000
O=®"& AKX 600,000& = 24 1,200
OAEE A1t 200,000& = 164 3,200
Odl 2 Mt 300,000& = 404 1,200
Oetetol it 250,000& * 214 5,250
OgeE AR 200,000& = 60H 12,000




SN CNRBASSEE AYCHR
HY: ZRCNB 29

e JI2ET A2 o2 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Of0tEs & XH(erd) 100,000& = 1694 1,600
Osole EX(otE) 150,000& = 8JH 1,200
OFAHAEE 2Kt 150,000& * 764 11,400
O0lsg e e 200,000& = 1404 2,800
OXJE AKX 300,000& = 224 6,600
HNASZ HH 200,000& = 8JH 1,600
O=ZEA oK 150,000& * 80JH 12,000
OHlol=(2¢elg) 250,000 = 1404 3,500
OHI0IE 4012 (29IH 500,000& = 504 2,500
OHI0IE 422 (5HA 200,000& * 64 1,200
OHI0IE 4012 (YBHX )
300,000 = 1504 4,500
OHIolE (82 &) 300,000& = 34 900
OANRAES ItEIA 380,000& * 7H 2,660
O30 ERBEEZH(DH
,400,000& = 204 2,800
O3F0EBEEZE(0ISE 500,000& = 1JH 500
Ogl2Es Hol=2 550,000& * 1H 550
OTV(5021 XI) ,200,000& = 104 1,200
OWHZ 1 (500L 0]ah) ,000,000& = 1CH 1,000
OCIXIE It 2k 500,000& * 1CH 500
(@FSPAR=REDN| 100,000& = 1CH 100
O2MA D] ,000,000& = 1CH 1,000
OHM 2D 500,000& = 1CH 500
O& B 400,000& = 1CH 400
OF2II(®ESHER) 800,000& = 1CH 800
[@E=R=Wl! 500,000& * 1CH 500
O3 dl 9kt 600,000& = 1JH 600
=3 Az N2EAN 2 524,100 524,100
201 Bt A H| 40,600 40,600
01 At 22l b 40,600 40,600
O&EAM D237 =H| L1603 * 35,000 40,600
206 M = Hl 46,000 46,000
01 & bl 46,000 46,000
O=ANE2ES 35,000
ORFID TAG 500& * 35,000 17,500
Octe Xl 938 500& * 35,000 17,500
O=AHHE 22,000& * 500 11,000
405 XHabF SHI 437,500 437,500
02 EAFH| 437,500 437,500
oHaEg A 2L 12,500& * 35,000 437,500




SA CABEMSSER AYCHB
HM: ZICAHD 29
Tl MESCEE S ALY (SHel: =)
SA-EH . O (BH) - NBAY - BAS O 4t 0t SSa HDS2
MES0CEE S ALY 700,000 0 700,000
2 700,000
HFEANYSHZ 22 700,000 0 700,000
2 700,000
401 Al HI L 2 TH| 700,000 0 700,000
2 700,000
01 Al&H] 700,000 0 700,000
ONBETAHZ MESOCE8s ALY
700,000,000 700,000
2 700,000
Wao A2 ha 721,086 0 721,086
WS M2 W= 603,806 0 603,806
201 L2y 46,840 0 46,840
01 At 22l 38,840 0 38,840
ONSE® HE AZEYH 2 26,840
OMicrosoft 0ffice Standard 2019
420,0008 * 412 17,220
OstzmA 220,0008! * 41= 9,020
OBlSEorR 9.0 40,0008 * 152 600
OXMAWAALATER 0 2Y(IAH/10220IHE
) 4,000,000 4,000
OULRSTHD 22 0/ 8,000,000 8,000
03 A2 2 H 8,000 0 8,000
© 028 Af 8,000,000 8,000
207 1R INLH 20,000 0 20,000
02 & AHJH L HI 20,000 0 20,000
OUW+SHZ EHOIX 2= 20,000, 000&! 20,000
401 AIEHI L S TH| 97,000 0 97.000
01 Al& bl 97,000 0 97.000
ousA2 22,000,000 22,000
CER-II= 13,000, 000! 13,000
ORI &X 22,000
o3te=Ex 3.500,0002! * 274 7,000
oot A3 5,000,0008! * 30H 15,000
OZAMZ WET A 20,000,000%! 20,000
OS A HIILH ZA 20,000, 000! 20,000
405 XHAHE S H 439,966 0 439,966
01 AL SE 3 SH 439,966 0 439,966
ONSE FAFH 7 78,800
OEE=2= 1,400,0008! * 41CH 57,400
ODRH(MEZSH) 600,0008! * 6CH 3,600




2N
X ZH -
L= B

el

CAHBEMSERE ANBCAHD
/N 29
WS A2 H2

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZgH(A3ZE22H) 3,500,000& * 1CH 3,500
O&X= AL 5,500,000& * 1CH 5,500
OkLE= 1,500,000& = 1CH 1,500
OodH 200,000& = 1CH 200
OAMH 500,000& * 1CH 500
oA 600,000& * 1CH 600
O& 3| 600,000& = 10CH 6,000

OE= A2 RFIDEH| ¢ 213,050
ORoldte | 27,000,000& = 1CH 27,000
O T X OHHI L 17,300,000& * 3CH 51,900
OAMNAMEUAIERIE/2H0IEH DI

2,730,000& = 504 13,650
OXstHserell(del=)

26,360,000& * 2CH 52,720
OXstsEerell(otsz)

24,610,000& * 2CH 49,220
Ogx+=E&4)| 600,000& * 7CH 4,200
OMASII(HE) 9,000,000& * 1CH 9,000
Ot EZ2lH 1,650,000& = 1CH 1,650
otz =el 2l 190,000& * 40H 760
O3dE&SEgD]| 2,950,000& * 1CH 2,950

ogZz Mg 3,500,000& * 1CH 3,500

©OB652! Xl LED TV(CIXIE X2 4A!)
1,600,000& = 2CH 3,200

O™ XHE & 5,200,000& * 1CH 5,200

Ol M2 JI7 € EI|7¢ 136,216
O=S A4S HIHAEH) 610,000& = 6H 3,660
O A4 HIH(UIO) 320,000& = 18JH 5,760
O=2A6S A IH(AEH) 620,000& * 74 4,340
O=A6HAIHUO) 430,000 * 284 12,040
OSAI3Y 2 MIHAEEH)

331,000& * 34 993
O=2A3et 2THE A IH(0IA)

309,000& * 6H 1,854
Ol 2A=E 250,000& * 1H 250
O401 2 A8 450,000 * 204 900
O& Xl A It 867,000& * 7H 6,069
ozgd 25,000,000& = 14 25,000
Oz2E)| S (EEH) 350,000& = 8JH 2,800
OMEEH)| ASH(BEY) 250,000& = 8H 2,000
O0lsSgYeAMe 200,000& = 100K 2,000
O2&h 8 200,000& * 54 1,000
OS5I 350,000& + 104 3,500
OZHth 400,000& = 204 800




SH ENBEASEES ANYEA
U BRCNZ 2
B UG AR 2 S @)
SA DO (3) - NSAY - BES 0f & o il 2
OUsEetgded=sy J|| 700,000& = 2H 1,400
O2I(AEEH) 200,000& = 104 2,000
o121& A1t 500,000& * 30JH 15,000
O mtdlols 400,000& = 54 2,000
OXAE ARt 350,000& * 20J4 7,000
OdAaH A 500,000& * 44 2,000
ogHoIS (40 ) 300,000& = 1074 3,000
(@)=E=g=2=Ip\} 200,000& * 2074 4,000
O= M 2kt 300,000& = 204 6,000
OsdEX 200,000& = 1JH 200
OLtElIE 380,000& * 74 2,660
OROISE X (XA ,BLE) 150,000& * 54 750
ORoIESEXH(HA , 92) 210,000& * 504 1,050
OARetg 700,000& = 1JH 700
OAN It EHTY 55,000& = 8IH 440
Ox=282AX% 600,000& = 24 1,200
OXAS A 200,000& * 54 1,000
Oostoleg=&a2o 500,000& * 1H 500
O3l gHlol2 550,000& = 1JH 550
Od &1 (500L Ol ,000,000& = 1CH 1,000
OTV(5002! XI) ,200,000& = 104 1,200
OO X &30 2t 500,000& = 1CH 500
[@FSPAX- RPN 100,000 = 1CH 100
O M A ,000,000& = 1CH 1,000
OM=7I 500,000& = 1CH 500
O& 3D 400,000& * 1CH 400
OdBIW2HeEE) 800,000& = 1CH 800
[@k=R=W]! 500,000& = 1CH 500
OAIAH(ME) ,000,000& = 14 2,000
Ostaddels (M A 800,000& = 3H 2,400
Oelola aAlgd 800,000& * 1JH 800
O=EMEe &Y 300,000& = 2H 600
W2 H2EN 2 117,280 117,280
201 LEt29Y| 9,280 9,280
01 Ak 2rel | 9,280 9,280
O M DI ,160& = 8,000 9,280
206 T 2 8,000 8,000
01 M= bl 8,000 8,000
OEANE2ES 8,000
ORFID TAG 500& * 8,000H 4,000
Ot EXNS 93 500& * 8,000H 4,000




SH CHBHMSSEE ANYCAHDB
M DTCHY 29
el S HE EEREED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tF S HI 100,000 0 100,000
02 =M7H 100,000 0 100,000
QMHaE FAFLH 12,500& * 8,000 100,000
HY2IIH(THZBYSSZ2R ANEZA2) 1,296,442 1,293,325 3,117
= 52,656
= 26,328
Al 1,217,458
el 2 1,050,777 1,034,731 16,046
= 52,656
= 26,328
Al 971,793
]| 874,266 867,241 7,025
101 @124 8] 874,266 867,241 7,025
01 2=+ 298,562 325,050 N 26,488
OAZZ2R4E 298,562
ogety 10,8418 = 858 * 27AI2+ 128 298,562
02 Bt M E =+ 115,950 123,830 AT,880
OAZZRsE 115,950
Oddsisa FAYs 6,268,000& 6,268
O N2 FMES 72,077,000& 72,077
OAlZtd & &GI1H 37,605,000 37,605
03 RIHLZ 22> 459,754 418,361 41,393
OANEZANZ BERE 2= 459,754
OJdlz=s(Ua) 123,358
123 2,377,970& = 298 « 12& 57,072
-158 38 2,761,880 = 28 « 12 66,286
OJlzs(ta) 170,563
9= = 2,368,920 * 6 * 12 170,563
O&cd=¥¢ 50,000& = 10 = 128 6,000
OS=2=2=+¢ 30,000% = 10F = 12& 3,600
OdHg Al 140,000& = 108 » 123 16,800
ONs=¢ 5,280
—bi 2 Xt 40,0008 = 4% » 123 1,920
-JIEIHE 20,0008 = 14 » 12& 3,360
(OF=JNi 3= 800,000& » 10& = 13 8,000
o254 14,697
-uUa07s3) 118,890&  2& = 12& 2,854
-U=2(1588) 138,090& » 2% = 12& 3,315
-t209%3) 118,440% » 628 + 123 8,528
O EE I 24,494
-Uarss) 1,188,980& = 298 * 23] 4,756
-2 (15838) 1,380,940% = 2& * 23] 5,524




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-t3209se) 1,184,460& » 6YH * 23] 14,214
Oxl=22RE 20,675
-LaTse) 167,700 * 29 x 12& 4,025
-L3(15sE) 192,400 * 29 = 128 4,618
-t209s2) 167,100& » 6Y = 12& 12,032
O4 I E A 18,379
-uz2Tae) 89,4403 » 29 x 20 3,578
-L3(15s8) 102,640 * 29 x 20 4,106
-t209ss) 89,120& x 6YH » 20¥ 10,695
OEBIAN S2EsH 2,880
Uz (752)
20,000 » 2 x 62 * 12& 2,880
o4HEeg = 45,028
-=01H= 414,726,000 * 4.5% 18,663
-H2AEE 414,726,000 * 3.335% 13,832
- YEE 13,832,000& * 10.25% 1,418
-1E288 414,726,000 * 1.65% 6,843
~MTHE S 414,726,000& * 1.03% 4,272
AMEEZAM2 JH2AI2E & 29 176,511 167,490 9,021
= 52,656
= 26,328
Al 97,527
101 2121 4| 176,511 167,490 9,021
= 52,656
= 26,328
Al 97,527
03 2INHA=ZZ2XHE %= 176,511 167,490 9,021
ORJIHEZZEX E 176,511
OoJleEa(ta s =)
2,368,920& * 4H 128 113,709
2 52,656
& 26,328
Al 34,725
o=2s52Y 118,440 * 49 « 128 5,686
O&HSE 50,000 » 4 = 128 2,400
OEx&RY 30,000& * 4% = 128 1,440
OY ZE S| 1,184,460& * 4H * 23] 9,476
Oxh224E 167,100 * 49 = 128 8,021
OFHZAH| 140,000 * 49 x 12& 6,720
OG I E A | 89,120& * 4% x 20¢ 7,130
(@F~In/y= 800,000 * 4 * 13| 3,200
OiItEsx=Y 1,440
=N 40,0008 * 1H = 128 480
-JIEIIE 20,000 * 4 x 128 960




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
& o 2d| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O4UBE8 g J1&a8E3 17,289
-2z 159,222,000& * 4.5% 7,165
-HLYEE= 159,222,000& * 3.335% 5,311
-HIIRISEBES 5,311,000& = 10.25% 545
-Ng88Ee 159,222,000& * 1.65% 2,628
-MIHEE S 159,222,000& = 1.03% 1,640
=224 245,665 258,594 212,929
JlE2&l 245,665 258,594 212,929
201 et 206,709 201,164 5,545
01 At 22l 44,466 41,401 3,065
oJlEYesuB =AY (JIE2H)
500,000& * 249 = 90% 10,800
o=2Hl(I1=2Hl)
8,000 » 269 x 8 x 12& » 90% 17,972
0B 29=
120,000& = 2% * 23| * 95% 456
od.ex) sAzel
45,000& = 500 = 128 * 95% 2,565
O3JI183FI| #A &2
45,0003 = 15CH = 128 = 95% 7,695
ORdEE= 32,4503 = 4CH » 128 1,558
OANEZ M2 2e13H|
300,000& * 122 = 95% 3,420
02 3323l 162,243 159,763 2,480
oORERS 1,575
Ogegt 350& = 1,000 350
=P 2,450 » 5003 1,225
OFX A S B2l
3,700,000& = 3CH = 8% 888
odHER= 77,582
OoJlegs 6,370& = 230kw » 128 17,582
OoANEERS 100& = 50,000kw * 128 60,000
(OF e e = 2,280& * 900m x 12& 24,624
oxNgHLeR S 40,624
oJee3 3623 * 650Mcal » 12& 2,824
OANEERS 90,000& = 35Gcal * 12& 37,800
(OPNE=PNIE= 500,000& = 3CH 1,500
O XS XAl 100,000 * 3CH 300
O Xtk A B | 14,500
S 6,500,000& * 2CH 13,000
O&EXH(EIIA) 1,500,000 * 1CH 1,500
O3 H=2d HWEESEE(3E NAAXLZ)
650,000& 650




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 20,736 27,360 A6,624
01 =L 20,736 27,360 NG,624
OJIEZHI
20,0003 249 « 62 * 1228 * 60% 20,736
203 YR =&l 18,220 18,070 150
01 J122E =4 6,000 6,000 0
OJNFEAH(42) 6,000,000& 6,000
02 It =2 6,820 6,730 90
OJlEA 6,820
O 100E Nt Xl 40,000& = 100 4,000
O 101~400& 30,0003 = 949H 2,820
04 FANSEHE=LH 5,400 5,340 60
OJ&EA 5,400
OJ12(30&0l3at) 400,000& = 12& 4,800
O=1H(3121014H) 5,000& = 10¥ = 128 600




H = 0 A&F AF S & Al
20218 & 20l & LB H SHZHMSISEE AMEBEMH2 ~ & M S22 dMNsisa
SN CHEBMSEZE QST A
HM: BEANS 2 (2L 2Z /250 =)

9l QHEACHT 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
CAALEMSIEER QLESHET A2 2,905,960 3,033,302 N127,342

=2 184,296
T 92,148
Al 2,629,516
23T A 2H(BL2AZ /250 =) 1,319,264 1,459,524 A 140,260
QEASETAZ 2 376,843 530,474 A 153,631
QESHTTANZ NZES 139,038 143,216 N4, 178
201 LEt2AY| 52,638 56,816 N4, 178
01 AFR2t2l bl 52,638 56,816 N4 178
OLES T AN HIIAHS(RE, X)) RS
= 13,023
O 15,000& * 15J0HAF » 128 * 95% 2,565
O Xl & X 13,000& * 109HAF » 128 * 95% 1,482
O& 2t 11,0003 * 440 AF » 128 * 95% 5,518
OF2HX 5,000& * 140 Ab * 523 * 95% 3,458
ONYZ A2 HIAHMES(EX) RS= 8,976
O&E 2t 11,000& * 4400 AF » 128 * 95% 5,518
OZF2+X] 5,000& * 1490 AF = 523 * 95% 3,458
OHIT AN HIAHS(EX) RS2 8,976
O 2K 11,000& * 4400 AF = 128 * 95% 5,518
OF 2t 5,000& * 140HAF * 523 % 95% 3,458
OLEZ AN HIIUAHMS(EX) RS2 5,757
O& 2t 11,0003 * 400HAF » 128 * 95% 5,016
OF2HX 5,000& * 3MAF * 522 % 95% 741
OSYL A2 HIAHES(EX) RS2 8,482
O& 2t 11,000& * 4400 AF » 128 % 95% 5,518
O=F2+X] 5,000& * 129HAF * 523 * 95% 2,964
ooz x=dl 1,160& = 6,400 7,424
206 M= Hl 6,400 6,400 0
01 & bl 6,400 6,400 0
OEANE2ES 6,400
ORFID TAG 500& * 6,4000H 3,200
Octd Sk 2 93 500& = 6,4000H 3,200
405 XH&HF S HI 80,000 80,000 0
02 &M+t 80,000 80,000 0
O&EAM 12,500& = 6,400 80,000
QLESHCME SFEZNY 29 66,215 54,860 11,355
201 LEt2 Y| 59,915 52,060 7,855
01 AR 22| bl 8,075 3,800 4,275
OSSN E 2,000& = 1,0008 * 95% 1,900
OCANZ EE= 2,500 * 1,0008 * 95% 2,375




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
S QHSATHY 2Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OLUSHIUEAH(MLIA) EEES MH
20,000& = 20000 * 95% 3,800
03 HAtS H b 51,840 48,260 3,580
SENSIEZOH 2 23,840
UMY
35,000& * 2A12F = 1304 Bt x 243 21,840
Og 9 70,000& * 204 1,400
OZz )y 29 223 100,000& * 6= 600
O M&F2 &HAL 1,000,000& = 13 1,000
OSsAHAY &AL 1,000,000& = 13l 1,000
Ox=3d HIIsH 500,000& = 43| 2,000
OSgLANLH(UEEY) 500,000& =* 63l 3,000
OSAESsEY 1,000,000& = 13 1,000
OSNEFEHS = 20,000
OXNENEBEH SIHA 500,000& = 63l 3,000
OXZaE 29 500,000& * 63 3,000
OO0l SHMET XS
500,000& =* 43| 2,000
OsSHMEXN 2208 29 300,000& * 153 4,500
ogmetol g9 5,000,000 5,000
OALARE 2 JEtHAI2E Y| 2,500,000& 2,500
203 ¥R =&XH| 2,000 2,000 0
03 Al Z=XIH R =X 2,000 2,000 0
O MNM& HRFX 2,000,000 2,000
301 dEtEA = 2,800 800 2,000
09 HALAHIXI &2 2,800 800 2,000
OZZ )8 TUHASAMI =4I|
8,000& = 104 * 103 800
OMsSIE NIASALL 2SS4
0,000& = 104 * 103 2,000
405 XtabF SHI 1,500 0 1,500
01 AL 2B F SHI 1,500 0 1,500
OLES=S 1,500,000& = 1CH 1,500
=EANS NS 29 23,044 22,648 396
282 A 7,229 3,933 3,296
AFR 22| bl 5,264 3,423 1,841
O&= TH2US =t
100,000& = 10 * 13 * 95% 950
Oz HRAAZ AAY
100,000& + 1Y = 23] 200
O A2 0OlE80tHY 2IE2H
2,500& * 1,000 * 95% 2,375
oZelH EY 230,000& * 7J0 = 95% 1,530




SN CHEBMSEZE QST A
HM: BEANS 2 (2L 2Z /250 =)
S QHSATHY 2Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=2AEX 22,000 * 108fA = 95% 209
02 332494l 1,965 510 1,455
Ogozregd3 1,965
Ost=2= A2 (23) 360,000 = 2042 720
Ost=2E A &(33) 115,000& = 304 & 345
OZ2Z2T A2 (BEZ) 300,000 = 1o & 300
OB2CAHE(CEZ2) 150,000& = 404 2 600
206 M = Hl 11,655 12,475 A 820
01 = bl 11,655 12,475 A 820
Ol EEREES 5,100
OU&EIte 1,500& = 2,0004 3,000
OJteel 2 80,000& * 204 1,600
Odle3aely 10,000 = 504 500
OXg &l Atol= 100,000& * 18JH 1,800
ONZHM=E 10,000 = 30H 300
OENEs+E HOolZ 150,000& * 52 750
ORFID EHO(B42) 500& * 5004 250
OXNSUHEEE) 95 X
3,000& x 3002 900
OAItE SHE 3,000& = 1004 300
ocxX&gxza 2AXM 975
Osl el 35,000& * 1504 525
(OF]E=a= 15,0002 * 1504 225
oA 15,000& = 150H 225
OAIE2E 2|2t A 20,000& * 144 280
O 28t 40,000& * 2504 1,000
301 dEtE X = 4,160 6,240 A 2,080
09 #HALAHI X &= 4,160 6,240 N 2,080
O XS AKX 2SS4l
20,0003 * 29 » 104 4,160
QESHEETNE ANLESR X2 118,546 106,260 12,286
101 @121l 90, 166 81,771 8,395
04 JI2ZtH 22 XNHEE =+ 90, 166 81,771 8,395
OFA EEE 2(3Y9) 90, 166
Ool2d| 81,3403 » 3Y * 26 * 12& 76,135
O4UEE = 8,270
-=0lH= 76,135,000& * 4.5% 3,427
-AUdEE= 76,135,000& * 3.335% 2,540
-} RYBEEE 2,540,000& * 10.25% 261
-N8E8E2 76,135,000& * 1.65% 1,257
-MHEE S 76,135,000& * 1.03% 785




SN CHARBMEEER QRSATAB
Hu: DICAD 2Y(2HUBE/S50D)
ASATHE 29 AEE)

M- BB (3H) - MBAY - B2 o A o SSa H RS2
OY &SIyl 200,000 = 3Y¥ = 23 1,200
O I A 81,340& » 3% 15 3,661
O=2XNEIUE 300,000& * 3YH 900
201 et A | 28,380 13,491 14,889
01 AFR2t2ldl 28,380 13,491 14,889
ORI FHAIAE S22l
300,000 = 128 * 95% 3,420
odsds) |A2cl
39,000 = 8CH = 128 * 95% 3,557
O3J|1&838)] |A 22yl
45,000 = 13CH = 128 * 95% 6,669
OMASI| FA 228
300,000& * 3CH = 23] * 95% 1,710
Ox&a ¥ HALES 10,000,000& * 95% 9,500
oggAsES 2,575
O&=A=H 130,000 * 72t A % 95% 865
OatzA=sH 90,000& = 2000 * 95% 1,710
oded4+I S5 16,5008 * 128HA x 95% 189
oFAMB2ES(HEES )
50,000& * 108 * 95% 475
ONNMEE(5E )
50,000& * 3&F * 23| * 95% 285
E=AM3 30,000 0 30,000
201 et A H| 29,000 0 29,000
03 A2 H H 29,000 0 29,000
OIIE=SANE 29 29,000,000& * 13 29,000
301 dEtE A = 1,000 0 1,000
09 SHALAHIXI &= 1,000 0 1,000
OXEESALAH & =4l 20,000& * 504 1,000
AN 29 206,607 203,017 3,590
AEEANZ NS ES 76,549 84,195 AT ,646
201 Bt A | 10,939 11,295 A 356
01 AFR 22l Yl 10,939 11,295 A 356
o™IIANde 1=E 5,301
OsLX 15,000& * 18IHAF » 128 * 95% 3,078
ORI X 13,000& * 15JHAF = 128 * 95% 2,223
onzax=x4l 1,160 = 4,860 5,638
206 M = bl 4,860 5,400 N 540
01 M= bl 4,860 5,400 540
OEANE2ES 4,860
ORFID TAG 500& * 4,860H 2,430




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
el AYEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Octde skl 2 93 500& = 4,860H 2,430
405 XtabF SHI 60,750 67,500 A6,750
02 & A7t 60,750 67,500 A6,750
O&EAM 12,500& = 4,860 60,750
MNETAZ BT )W 29 32,328 29,490 2,838
201 L2 H| 30,728 27,890 2,838
01 A2 22| bl 2,708 3,230 N 522
OSSN E 2,000& * 800 * 95% 1,520
OEANZ EE= 2,500& * 5002 * 95% 1,188
03 #HAFS S HI 28,020 24,660 3,360
OsSMSIE NS 29 24,170
O A=<
35,000& * 2A12t = 14JH8F * 243] 23,520
@)=E==4 70,000& * 54 350
OEzH 29 A2F 300,000& * 13 300
O 22t SHA} 850,000& * 13 850
OsAM2AY A 1,000,000& = 13 1,000
oOx=&d HII=9 500,000& =* 43| 2,000
301 et X = 1,600 1,600 0
09 HALAHI X &= 1,600 1,600 0
oOZz 1y XASALA =4I
8,000& * 10¥ * 203 1,600
A2 A 29 17,869 17,662 207
201 et A | 2,034 2,232 A 198
01 AFR2 2t 2l dl 2,034 1,967 67
oZelH EY 230,000& * 5JH * 95% 1,093
OZ2A] EY 270,000 * 1JH * 95% 257
O=2AD] Y 500,000& * 1JH * 95% 475
OEAEX 22,000& * 108fA = 95% 209
206 M = dl 6,615 7,110 N 495
01 = bl 6,615 7,110 N 495
I EEEEES 4,000
OU&EIte 1,500& * 2,00074 3,000
Oateel = 80,000& * 107H 800
Odle3aely 10,000 = 2074 200
OXg &l AtCI= 100,000& = 64 600
OLIXNEX=a 29X 975
(@) E=s 35,000 * 1504 525
(OFIi=a= 15,000 = 1504 225
(@] == 15,000 * 1504 225




0z 00 N
0000 =
H e

TMSEEY QESLCT AR
et 29 (2sta2a/280z)
et 29

HE - B (3H) - KISAY - BYS il HImEET
OENME+E HOZ 150,000& * 28 300
OXtsUEEEI =5 EX 3,000& * 808 240
OA2E A 20,000& * 1004 200
OKMIIE SHE 3,000& = 1004 300
BB HF 8,320 8,320 0
09 SALAHIX A S 8,320 8,320 0
OXZSALX #S4HI
20,0003 = 48 = 104¢ 8,320
405 XtatFE SHI 900 0 900
01 AL =S H SHI 900 0 900
O=EH 300,000& = 30K 900
& N2t AlIEESs A2 79,861 71,670 8,191
ol dl 60,111 54,515 5,596
JIZtH=22HsE+ 60,111 54,515 5,596
OFA EEZ E2(29) 60,111
oozl 81,340 = 2H » 269 » 123 50,757
(OF 1N B=h=-=1 5,513
=2z 50,757,000& * 4.5% 2,285
-HLYEER 50,757,000& * 3.335% 1,693
“HIIRISEES 1,693,000& * 10.25% 174
-NEEEa 50,757,000& * 1.65% 838
(THEEZE 50,757,000& * 1.03% 523
OFEFItHI 200,000& = 2H « 23| 800
O¢ItE &I 81,340 = 2% = 15¢ 2,441
O=XNEQUE 300,000& = 29H 600
201 £B-2dH| 19,750 8,090 11,660
01 At 22l 19,036 7,376 11,660
ORI FHIAIAY KX 2l
220,000& = 128 = 95% 2,508
Od2& I sl
35,0003 = 4CH = 12& = 95% 1,596
O3J1&&EI sX&eld|
43,0003 = 7CH = 128 = 95% 3,432
OMA=I| KX 2eltl
300,000& * 20 = 23] » 95% 1,140
Otz & HAES 6,200,000& * 95% 5,890
ogdzeESE 2,698
O&A=H 130,000& = 8%FA * 95% 988
OazA=H 90,000 * 200H * 95% 1,710
COYW2¥=xJ 3FZ 16,500& » 109FA « 95% 157
OHMES(BE 2)
50,000& * 65 * 43| = 95% 1,140




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
el AYEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OAl&E AtQI= 100,000& * 5& * 95% 475
02 332494l 714 714 0
OdSIE HA 14,000& * 518 714
HIACAHS 29 218,145 216,999 1,146
HACHZ NS 75,786 83,432 AT ,646
201 L2 H| 10,176 10,532 A 356
01 A2 22| bl 10,176 10,532 A\ 356
OFINUHME =2 4,538
Oz <X 15,000& * 179HAF = 128 * 95% 2,907
ORI X 13,000& * 1T1J0HAF *» 128 * 95% 1,631
oota =4l 1,160& = 4,860 5,638
206 M = Hl 4,860 5,400 N 540
01 M= bl 4,860 5,400 N 540
OENE2ES 4,860
ORFID TAG 500& * 4,860H 2,430
OctdgsX 2 95 500& = 4,860H 2,430
405 XtabF SHI 60,750 67,500 A6,750
02 & A7l 60,750 67,500 AN6,750
O&AM 12,500& = 4,860 60,750
HICAZ Szl 29 41,725 43,940 A2,215
201 Bt A H| 40,125 30,940 9,185
01 AFR 22l Yl 4,275 3,040 1,235
OsSAEZE 2,000& * 11,0008 * 95% 1,900
OZENZ EB= 2,500& * 1,000 * 95% 2,375
03 At L ] 35,850 27,900 7,950
OsSMIstE)dH 2 30,450
O A=
35,000& = 2A12t = 15Dl BF = 243] 25,200
Og 5 70,000& * 1504 1,050
OoEz)dH 89 A2F
300,000& * 2& * 23| 1,200
OSEUAMNEH(UE2EY) 500,000& * 63 3,000
OsMs0tel 4 1,400
O=UE ZA=S 35,0008 * 2AI2F x 203 1,400
O A2t A 1,000,000& * 13 1,000
OSsSAM2AY A 1,000,000& = 13l 1,000
oOx3d HII89 500,000& * 43| 2,000
301 dEtE X = 1,600 1,600 0
09 HAIAHI X &= 1,600 1,600 0




2N
X ZH -
L= B

el

0 Ok HN

HBBMSE2E QRELC A
TTHT 2 (2B /25 02)
ATHT 2%

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZz )& XJASALA =4l
8,000& * 10¥ » 20 1,600
HATCHZ A= 29 17,599 16,463 1,136
201 Bt H | 2,499 2,203 296
01 AP 22l Yl 2,499 1,938 561
oZelH EYH 230,000& * 5J0 * 95% 1,093
O=AI EY 270,000 * 2JH * 95% 513
OZ2AD] &Y 500,000& * 1JH = 95% 475
O=AEX 22,000 * 208FA % 95% 418
206 TH 2 HI 7,900 9,500 A1,600
01 M= bl 7,900 9,500 A 1,600
OUHEIS 4,000
ousote 1,500& = 2,0004 3,000
OJteel 2 80,000& * 10H 800
Odl=e3aely 10,000 * 20H 200
OXz &l AtCI= 100,000& = 54 500
OENE+E HolZ 150,000& * 32 450
OAItE SHE 3,000& = 1004 300
OXNsSUsSEE) 45 X
3,000& = 1002 300
odEZMEsE 10,0002 * 304 300
OAI2& I8t A 20,0008 = 1504 300
OCIXNEX=za 29X 650
odleA 35,000& * 10H 350
O2IBE 15,0002 * 104 150
Ol A 15,000& * 1094 150
O=2s2A(0IES OI2I0IEE) 50,000 * 1094 500
O=RUOE HAE 43 100,000& * 63 600
301 et X = 7,200 4,160 3,040
09 HALAHI X &= 7,200 4,160 3,040
OXNIEANK Ss4H|
20,0008 » 3¥ x 1202 7,200
HIATHZ AIESRA2el 83,035 73,164 9,871
101 @121 60,111 54,515 5,596
04 JI2ZtH 22 XNHEE =+ 60,111 54,515 5,596
OHA EEZ EB4(29%) 60,111
(@)siFals] 81,3403 » 24 x 26 * 12& 50,757
Q42 = 5,513
-=20H=3 50,757,000& * 4.5% 2,285
-AHAUAEE= 50,757,000& * 3.335% 1,693
-AIIRYEEZ 1,693,000& = 10.25% 174




SN CARBYSSESY QESLTND
U BBCNB SY(SHLBY/2SH0US)
el M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-IE228s 50,757,000& * 1.65% 838
-MHEE R 50,757,000& * 1.03% 523
OZFEFItHI 200,000& = 29¥ « 23] 800
OAIIE &I 81,3403 * 2H « 15¢ 2,441
O=XEAE 300,000& » 29H 600
201 L2l 21,624 10,884 10,740
01 At 22l 20,784 10,044 10,740
ORAHIAAE RX 22l
250,000 = 128 = 95% 2,850
od=zd=J| 7X&2ld|
34,0003 = 4CH = 128 = 95% 1,551
OZ3J18&EJ ®X&2ld|
45,0003 = 11CH = 128 = 95% 5,643
OMASI| S 2eltl
300,000& = 2CH = 23] = 95% 1,140
Ost&Es & F2ES 6,500,000& * 95% 6,175
oYdzel g3 2,698
O&a=H 130,000& » 82 A x 95% 988
OazA=H 90,000& * 2090 * 95% 1,710
oYWRFI =FZ 16,500 » 102FA « 95% 157
OHMEE(GE 2)
50,000& = 3ZF * 43 * 95% 570
02 2324l 840 840 0
O&d3x HEA 14,0002 *» 60E 840
405 THabH S| 1,300 0 1,300
01 AL ESFH S 1,300 0 1,300
OANEZEES 1,000
Ol =2l 500,000& = 1CH 500
OdFI| 500,000& = 1CH 500
OFXH AR (EHNAE) 300,000 * 1CH 300
HENP 2Y 180,063 169,825 10,238
QEZN2 2EE 53,356 59,030 A5,674
201 Let2d] 7,456 7,730 A274
01 At 22l 7,456 7,730 AN274
oOFJILtHEE =2 3,512
OF3=PN| 15,000& * 110HAF = 128 = 95% 1,881
OXI&X 13,0003 = 110HAF = 128 = 95% 1,631
oo az7=tl 1,160& * 3,400 3,944
206 M= Hl 3,400 3,800 A 400
01 =8l 3,400 3,800 A 400
OENMERES 3,400
ORFID TAG 500& = 3,4000H 1,700




2N
X ZH -
L= B

el

CHRBMSEEE QEELE
ZRTAHE 2Y(2HLBH/E
QTP 29

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Octde skl 2 93 500& = 3,400H 1,700
405 XtabF SHI 42,500 47,500 A5,000
02 & A7t 42,500 47,500 A5,000
O&EAM 12,500& = 3,400 42,500
QETAS BT )W 24 26,879 27,720 A 841
201 L2 H| 26,079 26,920 A 841
01 A2 22| bl 2,565 2,660 N 95
OSSN E 2,000& * 600 * 95% 1,140
OEANZ EE= 2,500& * 600 * 95% 1,425
03 #HAFS S HI 23,514 24,260 NT46
OsSMSIE NS 29 18,594
O A=<
35,000& = 2A12F = 1200 8F = 243 * 90% 18,144
@)=E==4 60,000& = 5J1 * 90% 270
OEzdH 29422
200,000& * 13| * 90% 180
O M&F2 &AL 800,000& * 13 800
OSsAHoY &AL 800,000& * 13 800
oOx3d HIIsH 500,000& =* 43| 2,000
O0ICI ClE Al BE 220,000& * 23] 440
oY = 220,000 = 43| 880
301 YprEE 800 800 0
09 HALAHI X3 2 800 800 0
OZZ )8 TUHASAL =4I|
8,000& * 10¥ =« 103 800
QECHE NELTN 29 21,814 15,327 6,487
201 LEt2HY| 2,034 1,757 277
01 AFR2t2l bl 2,034 1,492 542
oZelHd EY 230,000 * 5JH * 95% 1,093
O=2AI EYH 270,000& * 1JH * 95% 257
O=AJ| EH 500,000& * 1JH * 95% 475
O=2AEX 22,000 * 102fA = 95% 209
206 M= Hl 5,460 5,250 210
01 X2t 5,460 5,250 210
OUEARS 1,750
osEate 1,500& = 5004 750
OJlEel 2 80,000& = 10H 800
Odleacely 10,000& * 204 200
OLIXNEX=za 29X 860
(@) E=s 35,000 * 10H 350
O2I18E 15,000 * 174 255




SN CARBYSSESY QESLTND
Hi: ZZCANY 2E(2L22/2sH0 =)
Chelr Q¥ M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Olt*RA 15,000& * 174 255
Ot EZHE=E 10,0002 * 404 400
OA2E A 20,000& * 1004 200
OZNEx=E HOZ 150,000& * 58 750
ONnsSUEEEI S+ EX
3,000& » 1008 300
OMZEH| 40,0003 = 104 400
OMItE SHE 3,000& = 1004 300
OFIIUHEE AEIA 1,000& * 5004 500
301 LBEAZ 8,320 8,320 0
09 HALAHIX A S 8,320 8,320 0
OXAS AL &S 4atl
20,0003 * 498 = 104« 8,320
405 XHoHF S HI 6,000 0 6,000
01 AL EZFH S 6,000 0 6,000
OBz A AL 3,000,000& = 204 6,000
QETNZ ANEER A2 78,014 67,748 10,266
101 14l 60,111 54,515 5,596
4 D12t Z2XRESES 60,111 54,515 5,596
OFA EEA E4(29) 60,111
ool 81,340& = 262 * 128 « 29 50,757
C42E= 5,513
-=20HZ 50,757,000& * 4.5% 2,285
-HLYEE = 50,757,000& * 3.335% 1,693
B3I RISBERE 1,693,000& * 10.25% 174
-NE228s 50,757,000& * 1.65% 838
-MHEE = 50,757,000& * 1.03% 523
OZFEFItHI 200,000& = 29¥ « 23] 800
OAIIE &I 81,3403 = 2H « 15¢ 2,441
O=XEAE 300,000& » 29H 600
201 L2l 17,903 7,068 10,835
01 At 22l 17,903 7,068 10,835
ORAHIAAE RX 22t
250,000& = 128 = 95% 2,850
Od=2& I sX&eld]
25,0003 = 4CH = 128 = 95% 1,140
OZ3JI18&EJ ®X&cld|
45,0003 = 6CH = 128 = 95% 3,078
OHMASI| S 2eltl
300,000& = 3CH = 23] = 95% 1,710
Ost&Ea & F2ES 5,800,000& * 95% 5,510
ogdzelsEsE 2,698




SN CHEBMSEZE QST A
HM: BEANS 2 (2L 2Z /250 =)
B QEATAHZ 29 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&ASEH 130,000& * 88tA * 95% 988
OaZASEH 90,000 * 2000 * 95% 1,710
OWHRAELD| 25&H 16,500 * 108 A % 95% 157
oOFAMZIES(HZE )
50,000& * 8F * 95% 380
OMMEE(5E 2)
50,000& * 4& * 23] * 95% 380
SUCNE 29 337,606 339,209 A 1,603
YA NS ES 155,924 171,783 A 15,859
201 et A | 19,844 20,583 AT739
01 AtR 22l ] 19,844 20,583 A T739
oO&JIZH:HE =T 4,047
O 15,000& * 15J0HAF » 128 * 95% 2,565
O Xl & X 13,000& * 109HAF » 128 * 95% 1,482
OVOOMHIA AIESE 360,000& * 128 * 95% 4,104
ootzax=4| 1,160& = 10,080 11,693
206 M= Hl 10,080 11,200 AN 1,120
01 X2t 10,080 11,200 N 1,120
OENME2ES 10,080
ORFID TAG 500& * 10,0804 5,040
Octg X 2 9= 500 = 10,0804 5,040
405 XH&HF S HI 126,000 140,000 A 14,000
02 & A7 126,000 140,000 A 14,000
O&EAM 12,500& * 10,080& 126,000
SUCHE 2HT2IURY 34,225 37,750 13,525
201 Bt A H| 33,025 36,550 N 3,525
01 At 22/ 4,275 3,800 475
(OEISISR2PN 2,000& * 1,000 * 95% 1,900
OENZ EEBE= 2,500& * 1,000 * 95% 2,375
03 A2 EH| 28,750 32,750 A 4,000
OsSHMEsE)dH 29 22,160
O A=
35,000& * 2A12F = 12J8F * 243] 20,160
@)= 70,000& = 204 1,400
oz ) 2d9 AB2E 300,000 = 23| 600
oOx3d HII89 500,000& * 43| 2,000
O M&F2 &AL 1,000,000& = 13 1,000
OSAoY &AL 1,000,000 = 13 1,000
OS2l &4 1,590
O2UHE ARG
35,000& * 2Al2F = 2JHBF * 63 840




2N
X ZH -
L= B

el

0l Ok H1

HBEMSSES QRELC AT
oD 29(232BT/250Z)
YohT 2

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OCEE8 &TAH 7Y 12,500& = 12& » 53 750
O=M2stE Y 1,000,000 * 13| 1,000
301 LEM = 1,200 1,200 0
09 SAAHIXES 1,200 1,200 0
Onz Y KNHIASAX S4HI
8,000& = 10¥ = 153 1,200
SLTAN2 A2 29 39,773 36,300 3,473
201 Let24d] 2,888 3,575 A 687
01 At 2teltl 2,888 2,765 123
O=ZeH EUY 230,000& * 8IH = 95% 1,748
O=AMIl EUY 270,000& = 200 = 95% 513
O=AtEXI 22,0003 = 30%FA * 95% 627
206 M= Hl 11,925 11,925 0
01 =8l 11,925 11,925 0
oOU=E3zdS 6,600
OUsate 1,500& * 2,000 3,000
Osteel& 80,000& = 404 3,200
OslE=aelu 10,0002 * 404 400
OMItE SHE 3,000& = 1004 300
OEAME=Z HOIZ 150,000& * 58 750
oOnsSUEEEI g5 EX
3,000& 3008 900
OdEZHEE 10,0002 * 30K 300
OLINEXZY 2F XM 975
OdlEA 35,000& = 1504 525
O2I18E 15,000& * 1504 225
ObteA 15,0002 * 1504 225
OAM2E A 20,000& * 1504 300
OX=Z 4 A= 100,000& * 104 1,000
O M2 EH| 40,000& = 2004 800
301 LBEXZ 24,960 20,800 4,160
09 HALAHIX RS 24,960 20,800 4,160
OXASALA &S 4atl
20,0003 = 128 = 104« 24,960
SLEN2 NMEESS X2l 107,684 93,376 14,308
101 14 dl 85,319 75,687 9,632
04 DI 22 XRHEE S 85,319 75,687 9,632
OFA JI2ZH £=(3¥) 85,319
ool 69,7603 = 3% * 26 » 123 65,296
C4=2E = 7,092
e = 65,296,000& * 4.5% 2,939




SN CARBYSSESY QESLTND
H: B2 AS 2 (2s¥2 /250 =)
et BYUC AP 29 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-HABEE 65,296,000 * 3.335% 2,178
-AJQLUAEE S 2,178,000& = 10.25% 224
-Eg88s 65,296,000€ * 1.65% 1,078
-AMIEE 2 65,296,000& * 1.03% 673
OY ZE I 200,000& * 3Y * 23| 1,200
O I AbH| 69,760& * 3¥H = 15Y 3,140
O=2XNEE 300,000 » 3¥ 900
O& &2 3,845,260 * 29 7,691
201 2Bt Ayl 21,095 9,041 12,054
01 AR 22l ] 21,095 9,041 12,054
ORQIAHHIAIAE S Xl 22l
330,000& * 12€ * 95% 3,762
OWHRAELD| X2l
37,000 = ACH = 128 * 95% 1,688
OZ2J/dF)I| Xl &2lt]
45,000 = 70H * 128 * 95% 3,591
OMAZI| KA22d|
300,000& = 2CH = 23] = 95% 1,140
oOst&A & HAEES 6,500,000& * 95% 6,175
ogHAZIEE 2,698
O&EASH 130,000 * 88+A x 95% 988
OaZASH 90,000 = 2000 * 95% 1,710
oOdY2dL) =252 16,500& * 1582FA % 95% 236
OFANH2IESE 50,000 * 30 * 95% 1,425
OFMEE(DE 2)
50,000 * 4= * 23] * 95% 380
405 XHAHF S HI 1,270 0 1,270
01 XAt 2 Z F S| 1,270 0 1,270
OANEZ2ES 1,270
Ol =2l 500,000 = 1CH 500
OsEDI 770,000 = 1CH 770
HESHAH(EAZBMSISESR QST AR 1,586,696 1,573,778 12,918
= 184,296
= 92,148
Al 1,310,252
olad 2 A Y| 1,158,678 1,049,704 108,974
= 184,296
= 92,148
Al 882,234
QESLET A A2 HERA 177,841 160,815 17,026
= 52,656
= 26,328
Al 98,857
101 2121 | 177,841 160,815 17,026




2N
X ZH -
L= B

el

SHRBMSEES QBSLC R
HHSHBY (CHBTYASER QHSLTHT)
ol 2yl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 52,656
= 26,328
Al 98,857

03 RIAHAZZ2E = 177,841 160,815 17,026

OLESHEAMZ HEANHE ZRE olHH|(

49) 160,422
(OPJRg= 2,368,920& » 4% » 128 113,709
= 52,656
= 26,328
Al 34,725
OF=E=F = 118,440& = 4H » 12& 5,686
O= &l 140,000& » 49 » 128 6,720
O&¥d=+% 50,000& = 4H » 128 2,400
OSx=2ExE 30,0003 * 4¥ » 12& 1,440
OFEFItHI 1,184,460& * 4% * 23] 9,476
OxU2 =2 167,100& = 49 = 12& 8,021
Odits 800,000& = 49H 3,200
OAIE &l 89,1203 = 4% = 20 7,130
OPIE=Ea=s 2,640
—bi < Xt 40,000 * 3% = 128 1,440
-JIEIS 100,000& = 1H = 123 1,200
c4liEEg = 17,419
O=0dz=z 160,422,0008 * 4.5% 7,219
OFaRz gk = 1= 160,422,0002 * 3.335% 5,351
OFIILEE= 5,351,000& = 10.25% 549
CnE:2Ez 160,422,000& * 1.65% 2,647
OMHEE S 160,422,000& * 1.03% 1,653

SAYTAM2 A HE2Y 178,029 162,917 15,112
= 52,656
< 26,328
Al 99,045

101 @14 dl 178,029 162,917 15,112
= 52,656
< 26,328
Al 99,045

03 RIAHAZZ2TE = 178,029 162,917 15,112
ONYT NI HAIZHE ZRE 0124H|(4Y) 160,592
OJles 2,407, 770& » 4F » 128 115,573
= 52,656
= 26,328
Al 36,589
OozZ2s+¢ 120,380& * 48 » 123 5,779
O= &l 140,000& * 4H » 12& 6,720
(OFSF=E8=; 50,000 = 4% = 12& 2,400
OExAEH 30,0003 = 4¥ « 128 1,440




SN CHEBMSEZE QST A
Y BHLARU(CHREMSSES QBELTAHR)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFEFOtHI 1,203,880 * 4% =« 23| 9,632
Oozuze=¢ 169,500& * 4H » 123 8,136
Odt= 800,000& = 49H 3,200
OGItE &t I 90,4003 = 4% = 20 7,232
OPIE=E = 480
-JIEHOHS 20,0003 = 28 » 123 480
c4liEdg = 17,437
O=38dz=z 160,592,000& * 4.5% 7,227
OFaRz gk = 1= 160,592,000& * 3.335% 5,356
OFIILEE= 5,356,000& * 10.25% 549
OCnE:2gz 160,592,000& * 1.65% 2,650
OdMMMEE = 160,592,000& * 1.03% 1,655
HATNZ OHZAIZE AE2H 175,713 161,381 14,332
= 52,656
= 26,328
Al 96,729
101 @124 dl 175,713 161,381 14,332
= 52,656
= 26,328
Al 96,729
03 RIAHA2Z 2R E > 175,713 161,381 14,332
OFHIAT NI HAILHE ZRE 0124H|(4Y) 158,502
OJles 2,368,920& » 4% » 128 113,709
= 52,656
< 26,328
Al 34,725
Ooz2s+¢ 118,440& * 4H = 123 5,686
O= &l 140,000& * 4H » 12& 6,720
O&dd=¢ 50,000 = 4% = 12& 2,400
OExAEH 30,000& = 4¥ « 128 1,440
OZEFOtHI 1,184,460 = 4% * 23| 9,476
Ooxzuze=4 167,100& * 4H » 12& 8,021
Odt= 800,000& = 4H 3,200
OAHIIE &I 89,120& * 498 » 20 7,130
O=E=g 720
—bH < Xt 40,0003 * 1¥ « 123 480
-JIEIHE 20,000& = 1% = 128 240
c4liEEg = 17,211
O30z 158,502,000& = 4.5% 7,133
OHLEE= 158,502,000& * 3.335% 5,287
OWIAEER 5,287,000& * 10.25% 542
OnssEgzs 158,502,000& * 1.65% 2,616
OtHEE = 158,502,000& * 1.03% 1,633




SN CHEBMSEZE QST A
M HESHAU (CHRENSSES QESATAT)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
QEENZ HZAIZ HE2Y 89,017 78,733 10,284
= 26,328
< 13,164
Al 49,525
101 @14 dl 89,017 78,733 10,284
=2 26,328
< 13,164
Al 49,525
03 RIHAZZAE S 89,017 78,733 10,284
ORQET NI HAIZHE ZRA ol2H|(2Y) 80,297
OJdles 2,407,770& * 2% » 12& 57,787
= 26,328
< 13,164
Al 18,295
o254 120,380 * 29 » 12& 2,890
O= gl 140,000& = 2% » 12& 3,360
(OFSg=Ea=y 50,000& = 29 = 12& 1,200
OE+HExE 30,000& = 2% * 12& 720
OFEFItHI 1,203,880& * 2% « 23| 4,816
Oxzz2fs¢ 169,500& * 29 » 12& 4,068
Odut=z 800,000& * 2H 1,600
O ItE &I 90,4003 * 29 » 20 3,616
OnEg 240
-JIEILE 20,000& = 19¥ = 12& 240
C4iEE = 8,720
O30z 80,297,000& * 4.5% 3,614
OFaRzgh= 1= 80,297,000 * 3.335% 2,678
OFWILEER 2,678,000& * 10.25% 275
Cng=28s 80,297,000& = 1.65% 1,325
OuHEE = 80,297,000& * 1.03% 828
ol 24| 538,078 485,858 52,220
101 @14 Hl 538,078 485,858 52,220
03 RIHAZZAE S 538,078 485,858 52,220
OFAx BRH B 86,697
OoJlez2(tz 853 8)
2,330,240& = 2% » 128 55,926
o254 116,510& = 2% » 12& 2,797
(OFSg=Eag=y 50,000& = 29 = 12& 1,200
OY &S 0tHl 1,165,120& = 2% * 23| 4,661
Ooxzuze=4 164,500& * 2H » 12& 3,948
O= &l 140,000& * 29 = 12& 3,360
OExARH 30,000& * 2% * 128 720
O¢ItE &I 87,760& * 29 x 20 3,511




SN CARBMSEEE QESLTAR
Y BHLARU(CHREMSSES QBELTAHR)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
(@F-niy= 800,000& * 24 1,600
ons=4g 480
-bif < Xt 40,0008 * 18 = 12& 480
Oo4HEeg = 8,494
-=01HA= 78,203,000 * 4.5% 3,520
-HEEEE 78,203,000& * 3.335% 2,609
-3 YEBEEE 2,609,000& * 10.25% 268
-1NEg88s 78,203,000& * 1.65% 1,291
M EE = 78,203,000& * 1.03% 806
Olzaeg 528 B 451,381
oJlezs(ta) 288,485
-85 2 2,330,240& = 5H * 128 139,815
95 = 2,368,920& » 39 * 12& 85,282
-168 8 2,641,140& » 24 » 128 63,388
o=2s52Y 14,425
-85 8 116,510& x 59 x 12& 6,991
95 = 118,440 + 39 » 12& 4,264
-168 3 132,050& * 29 x 12& 3,170
[Or=2=1:l 140,000& = 109 * 12& 16,800
(OF F=E=, 50,000& » 10 = 12& 6,000
OSx&R2Y 30,0008 » 10 = 128 3,600
(@F=FSE=l 5] 24,042
-85 =2 1,165,120& = 5% * 23] 11,652
95 = 1,184,460 * 3Y * 23] 7,107
-162 = 1,320,570& 29 * 23] 5,283
Oxl=22xE 20,317
-85 8 164,500& * 59 x 12& 9,870
95 = 167,100& + 39 = 12& 6,016
-162 = 184,600 * 299 = 128 4,431
Oduz 800,000& = 10¥ 8,000
O I & 18,064
-85 2 87,760& x 5H x 20 8,776
95 = 89,120& » 38 » 20 5,348
-162 = 98,480& * 2% x 20 3,940
Oons==4g 7,440
b < Xt 40,0003 * 8" x 12& 3,840
=JI eSS 100,000& + 39 = 12& 3,600
o4Eeg = 44,208
-=20H= 407,171,000& * 4.5% 18,323
-H2AEE= 407,171,000& = 3.335% 13,580
- RUYEE= 13,580,000& * 10.25% 1,392
-Eg88s 407,171,000& = 1.65% 6,719




e o2 Hn

HBBMSE2E QRELC A
HeUBU (CABEYSAS2R QHS2THT)
=2l

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
-MHEEE 407,171,000& * 1.03% 4,194
=&t 428,018 524,074 N 96,056
JlE23H| 428,018 524,074 N 96,056
201 et A | 401,066 495,106 AN 94,040
01 AtR 22l ] 39,609 26,848 12,761
02U LHESAY|
500,000& * 23H * 90% 10,350
o3gdl(JIE&H])
8,000& * 33¥ x 8L * 128 * 90% 22,810
O/N&dsUE2(5IHA)
32,450 = 501 = 128 * 95% 1,850
CEEEEEEE
120,000& * 10¥Y x 23] = 95% 2,280
(OER=gmE=: 1,331
O2Z20|2 gg2el Xt Wl
200,000 * 5% % 95% 950
Os2D| et 22| A =l
30,000& = 5% = 95% 143
OAgord el X &3 H|
50,000& * 53 *x 95% 238
O=2AD EY 270,000& = 2JH * 95% 513
O=2AD EH 500,000 = 1JH = 95% 475
02 332494l 361,457 468,258 A 106,801
OZAIIAR2 950& = 5,250m * 12& 59,850
oRW2 6,425
O gt 350 * 1,000 350
o=yl 2,150& x 500 1,075
O =4 b 5,000& * 20000 * 5JH & 5,000
odII=2 243,906
OJI2ea2 6,370& * 50 « 230kw * 12& 87,906
oMNssEeZ
100& * 26,000kw * 5004 = 12& 156,000
Oadt+=22
1,920 = 380m = 5004 = 1204 & 43,776
OXNSXEE 800,000& = 1CH 800
O XS XA 100,000& * 1CH 100
O Xt & ghHy| 6,500
Os &t 6,500,000& * 1CH 6,500
o=dINLdRE 2 100
OXNsS X2 100,000& * 1CH 100
202 04| 19,872 21,888 N2,016
01 2L Y| 19,872 21,888 N2,016
OPJES ]
20,0008 * 23Y * 62 *« 128 * 60% 19,872
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N & 0 &F AF Y & A
20218 = 20l A LB H SAZTEMSSEE AIE@EAZ ~ & YMEIE=2e HMstg2
SN CARBMSSEE QST
M BTCHY 29
el 2STHE 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CAALEMSIEER QST A 3,438,247 3,055,862 382,385
= 223,788
= 163,634
Al 3,050,825
ST A 29 1,626,145 1,379,618 246,527
o= 51,740
Al 1,574,405
CETAHS 29 586,341 578,924 7,417
o= 51,740
Al 534,601
LETAE NSEHE 148,319 151,232 N2,913
201 Bt A H| 61,919 61,052 867
01 AR 2t2l ] 61,919 61,052 867
OLLETNE HII2HEM=E 25 15,702
O 15,000& = 15J0HAF » 128 * 95% 2,565
O Xl X 13,000& * 100HAF » 128 * 95% 1,482
OZF=2tX] 5,000& * 1T1JHAF * B2 % 95% 2,717
O &2t 11,0003 * 4400 AF » 128 * 95% 5,518
O& XA Z 30,000& = 10= * 128 » 95% 3,420
OMNMIAETANZ F=EH2tX 25 8,235
OZF2tX] 5,000& * 1T1J0HAF * 523 % 95% 2,717
OE 2t 11,000& * 440 AF = 128 * 95% 5,518
OEET N F=E2tX 25 7,988
OZF2tX] 5,000& * 109HAF * 523 % 95% 2,470
O &2t 11,000& * 4400 AF » 128 = 95% 5,518
odsEsE M =2t 25 2,364
O ZF=2tX] 5,000& * 5JHAF * 52ZF x 95% 1,235
OE 2t 11,000& = QAL = 128 * 95% 1,129
OZUEAMZ =EH2tX 25 7,741
OZF2tX] 5,000& * QI AL *= B52ZF= * 95% 2,223
Og 2t 11,000& * 440 AF = 128 * 95% 5,518
OSMENZ F=EH2HX 25 4,230
OF2HX 5,000& * QI AL * 52ZF= * 95% 2,223
O &2t 11,000& * 16HAF » 128 * 95% 2,007
Oz A& =2t 2S5 8,235
Z=2HX 5,000 * 11JHAF *= B2 * 95% 2,717
OE 2t 11,000& = 4400 AF » 128 * 95% 5,518
ootz 7=l 1,160& * 6,40004 7,424
206 M = Hl 6,400 6,680 A 280
01 XHZ Hl 6,400 6,680 A 280
OENE2ES 6,400
ORFID TAG 500& = 6,4000H 3,200




SN CARBMSSEE QST
M BTCHY 29
Sel: QBTN 2Y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Octd sk S 1035 500& * 6,4000H 3,200
405 XtabF SHI 80,000 83,500 A 3,500
02 & A7t 80,000 83,500 A 3,500
O&EAM 12,500& * 6,400 80,000
CETAS BETZ2 )W 24 59,563 59, 183 380
201 L2 H| 55,563 51,983 3,580
01 A2 22| bl 6,175 6,175 0
OSN3 SEHE 20,000& * 2005 * 95% 3,800
OsSAEZE 2,000& * 750 * 95% 1,425
OENZ EEB= 2,000& * 5008 * 95% 950
02 3524l 1,878 1,878 0
OMEESsIRAHAANAL S22
156,500& * 12& 1,878
03 HALS H b 47,510 43,930 3,580
OSHMRIEZ)H 2 16,400
OBA g
35,000& * 2A12F = 14D Bt x 123 11,760
OSdHIHe M= 70,000& * 1204 840
Ox=& dJIsd 500,000& * 43| 2,000
OEz ) H 29 22 300,000& * 63 1,800
oOSHSso2 84 4,110
o=wE +g
35,000& * 2Al2F x 8IfBL x 63 3,360
OEESE T AN&N7Y 12,500& » 68 » 10& 750
OQI =28 HAEY 21,000
O0ol2s HAEIY JH=l 20,000,000& * 13 20,000
Otz oI 28t 29 500,000& =* 23] 1,000
O=23It U= & 500,000& = 43| 2,000
O M&F2 &AL 1,000,000& = 13l 1,000
OSAHoY At 1,000,000& = 13 1,000
OsSMNBZ 2,000,000& = 13| 2,000
203 &R =&H| 2,000 2,000 0
03 A =X R =XH| 2,000 2,000 0
OENM& RN 2,000,000& 2,000
301 et X = 2,000 4,000 A 2,000
09 #HALAHI X &= 2,000 4,000 A 2,000
O=2Z=z 18 XAIASALA S S|
8,000& * 10¥ x 253 2,000
LETAZ A 29 23,728 21,440 2,288
201 et A H| 5,988 3,700 2,288
01 AFR2 22l Yl 3,193 3,040 153




SN CARBMSSEE QST
M BTCHY 29
Chelr s M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O M2 OlE2t el =3
2,000& = 1,0008 = 95% 1,900
O&= T M3l FOHH|
100,000& = 10H » 13| » 95% 950
OXzZ2elAEE HA==H
100,000& = 1H « 23| 200
ONMASAA 22 E3
15,000& = 10H = 95% 143
02 =224l 2,795 660 2,135
O8RES 2,795
Ost=2E M2 3yl 150,000& * 1JH 2 150
Ost== M2 (22) 360,000 = 2012 720
Ost=2= A& (332) 115,000 501 & 575
O33=MABS2) 300,000 = 2042 600
O33=zAM&(CS=2) 150,000& * 50 & 750
206 = Hl 13,580 13,580 0
01 =8l 13,580 13,580 0
OUE3IAZS 5,800
OUsE3te 1,500 * 3,000H 4,500
O3teel& 80,000& * 158 ,200
Odle=2ey 10,000& * 102 100
OMItE SHE 3,000& = 1004 300
OEAM 28 HY 150,000& * 28 300
ORFID TAG 22 500& = 1,000H 500
oOnsSUHEEEI g5 EX
3,000& » 1008 300
OAMSE A 20,000& * 2004 400
OXZ &l AFCTAIAE 100,000& * 404 4,000
OXz4a PC 2% XM 580
Odll EAl 35,000& * 8 280
O3I2E 15,0002 = 104 150
Olt*A 15,000& * 104 150
OZ M BHUCTH 100,000& * 6K 600
O M EH| 40,0003 = 2074 800
ALS TS 160
09 HALAHIXI &3 ,160
OXNJSALA &S Al
20,0003 * 298 = 104« ,160
OLJISt &M ot= MAMY 25 273,500 258,720 14,780
< 51,740
Al 221,760
201 L2l 90,500 82,840 7,660
= 17,115




SN CARBMSSEE QST
M N2 23
el QAT AP 29 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 73,385
01 At 22l 36,300 36,500 A 200
O#MAIEE 34,500
OCs2& Mz 2,000& = 8,0000H 16,000
< 3,027
Al 12,973
ocd=sg =222 NE 7,000& * 50004 3,500
< 662
Al 2,838
Olid=se 3,500,000& = 4JH At 14,000
< 2,649
Al 11,351
ocgsktzd 10,000& * 100= 1,000
< 189
Al 811
(OFSPNES=, 1,800
O MEERARS & A=Z 100,0008 * 8Y 800
< 151
Al 649
ONEH 018 & 252 32 MM
100,000& * 10¥ 1,000
< 189
Al 811
03 &AL Z I 54,200 46,340 7,860
onaegsi 24 2,680
OXNJ&ESIH u=s 70,0003 * 243| 1,680
< 317
Al 1,363
OXNZ&sit /I35 ¢ 24Egs
500,000& = 23| 1,000
= 188
Al 812
OusZz)dH 29 37,520
OR2uU=s 82 £ 500,000& = 103l 5,000
< 945
Al 4,055
O#=0 T2
70,0003 * 140HEF * 243 23,520
< 4,449
Al 19,071
O=Zs=s0t=s0tel E& 70,000& = 203 1,400
< 264
Al 1,136
O#=0 T2 29 Mzt
200,000& * 14J4Et » 23] 5,600
< 1,059
Al 4,541
O3s=s0tsotel 22 M=4l 2,000,000 2,000
< 377




FO 01 HN
OF 0K
H e

x x 0"

Jor
)3
r

I 1 0
D 0

02 08

to

gl

0F
H
>
el

SN HH-S(BN) - MBAY - B il HlnE2
Al 1,623
O=s=H= 4,000,000& = 104 4,000
< 757
Al 3,243
© 0t J| 24 At g JH=l 10,000,000 = 13l 10,000
< 1,892
Al 8,108
206 M= Hl 168,000 158,400 9,600
< 31,786
Al 136,214
01 =8l 168,000 158,400 9,600
o#neo 2 168,000
O&AM 10,0002 = 23 * 6,000 120,000
< 22,704
Al 97,296
Ot 8,000& = 6,00004 48,000
< 9,082
Al 38,918
301 LPEHSF 15,000 17,480 N 2,480
= 2,839
Al 12,161
09 HALAHIXI RS 10,880 14,880 A 4,000
OAMN2Y S AR =l
8,000& = 30¥ « 123 2,880
= 545
Al 2,335
ONAESIH &Yl XA
20,000& = 209 « 203l 8,000
< 1,514
Al 6,486
12 JIEtE 43 4,120 2,600 1,520
OJfelH 08 AEel 28 4,120,000& 4,120
< 780
Al 3,340
SEAZ AESRA 2 81,231 88,349 AT,118
101 @124 4] 60,458 52,729 7,729
04 J12tHI 22 Xt o= 60,458 52,729 7,729
OFHA =X BN 54,598
Ol 81,340 * 2 » 269 * 123 50,757
OZFEJItHI 200,000& = 2% « 23| 800
O=XNEQUE 300,000& * 24 600
OHA XL &I 81,3403 = 2 « 15¢ 2,441
o4l 2= 5,860
o384z 53,947,000& * 4.5% 2,428
CHZBE S 53,947,000& * 3.335% 1,800




SN CARBMSSEE QST
M BTCHY 29
Chelr s M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFIILEE= 1,800,000& * 10.25% 185
OCnE:2gEz 53,947 ,000& * 1.65% 891
OMTHEE S 53,947,000& * 1.03% 556
201 L2l 20,773 12,590 8,183
01 At 22l 20,103 11,970 8,133
OFo&H AlAH 300,000 = 12& = 95% 3,420
od - 240 sl
40,0003 = 4CH = 128 = 95% 1,824
O3J1¥3FJ| sX&elyl
45,0003 * 10CH = 128 = 95% 5,130
OMA=I| =2ldl 300,000& = 20H = 95% 570
ORAE N =H| 1,530
O3371& Agordzel Xt
200,000 = 7 = 95% 1,330
OsZJ] ¢t 2|t 30,0008 « 7H * 95% 200
OFANZLES 50,000& = 5& * 23 * 95% 475
Oz & HAES
100,000 = 6& = 128 = 95% 6,840
oY - 2=J] 3FZ 16,500& » 2089 A « 95% 314
02 =224l 670 620 50
OAgord 2te| &3l 50,000& = 7 350
o=Y¢3 #F& 8,000& * 40m’ 320
NEEM22H 227,174 225,078 2,096
NEENA2 JHE2ES 82,087 89,127 A7,040
201 Let24d]| 10,537 10,827 A 290
01 At 2teltl 10,537 10,827 A 290
oFJIANHE=E 7= 4,389
Oos2X 15,000& = 17JHAL = 128 = 95% 2,907
OX X 13,000& = 10J0HAL = 1238 = 95% 1,482
o a7 =4l 1,160& = 5,30004 6,148
206 TH 2 HI 5,300 5,800 A500
01 24l 5,300 5,800 A 500
OZNELUES 5,300
ORFID TAG 500& = 5,3000H 2,650
otgsXs 105 500& = 5,3000H 2,650
405 XtatE SHI 66,250 72,500 A6,250
02 =M=l 66,250 72,500 26,250
O&A 12,500& * 5,300& 66,250
NEEAZ EZ20H 24 39,940 37,840 2,100
201 £B-2%H| 36,840 36,240 600
01 At 22l 2,850 2,850 0




SN CARBMSSEE QST
M BDCHY 29
el HESHERY (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O=SMHL2E 2,000& * 1,000 * 95% 1,900
OZNZE EE2= 2,000& * 5008 * 95% 950
03 A2 Sl 33,990 33,390 600
OSAEHIRIY 29 23,730
OBA g
35,000& * 2A12F = 2208t * 123] 18,480
OZcHIte M= 70,000 * 1504 1,050
O=d &I844 500,000 = 63| 3,000
OEz ) H 29 =23 300,000& = 43| 1,200
OSMSO2l T4 4,860
o=wE +g
35,000& * 2A12F = 4J4BF % 123] 3,360
OEEE TAF7Y 12,500& * 128 = 10& 1,500
OEELANLTH(UEEY) 500,000& = 83| 4,000
O A 232t A 700,000& * 13 700
OSsS MY A 700,000 = 13| 700
301 et M= 1,600 1,600 0
09 HAIAHI X &2 1,600 1,600 0
OSHIT2IY NSAX Sl
8,000& * 10¥ * 203 1,600
405 Ko SHI 1,500 0 1,500
01 A&t = S F SHI 1,500 0 1,500
OLES 1,500,000& = 1CH 1,500
NN JNEeZea 29 23,090 23,124 N34
201 et A | 2,470 2,004 466
01 At 22l ] 2,470 1,739 731
oZelH EY 230,000 = 8JH = 95% 1,748
O=E2AI EYH 270,000& = 20 * 95% 513
O=2AEX 22,000 * 108fA = 95% 209
206 M = Hl 12,300 12,100 200
01 X2 Hl 12,300 12,100 200
OHE3AS 4,350
ousote 1,500& = 2,0004 3,000
Oateel & 80,000& * 152 1,200
Odle3acely 10,0008 * 152 150
oOMIIIE =SMHE 3,000& = 5004 150
OCEM E=Z2 HEY 150,000& = 202 3,000
oOXNsUHEEE) g9+ X
3,000& = 1002 300
OAIZ2& I8t A 20,000& = 204 400
O XS Al AFQIAI A& 100,000& = 204 2,000
OXNZA PC 2Y XM 1,300




SN CARBMSSEE QST
M BDCHY 29
el HESHERY (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
odleA 35,000& = 204 700
O2IBE 15,000 * 204 300
Ol A 15,000 * 204 300
O8] 40,000& = 1504 600
O=sAMU 20,000& * 10H 200
301 et X = 8,320 8,320 0
09 HALAHIXI &= 8,320 8,320 0
OXNIEANX S=4H|
20,0003 * 4% x 104 8,320
NIAETNH2 AIEESR X2l 82,057 74,987 7,070
101 @121 60,458 52,729 7,729
04 JI2ZtH2Z2XNHEE 60,458 0 60,458
OFA FEEX B 54,598
(@)siFals] 81,3403 » 2% x 26 * 12& 50,757
OY &5yl 200,000 * 2% * 23| 800
O=XNEE 300,000& * 29 600
O X2 AHH| 81,340& » 2% x 15¢ 2,441
o4l 8= 5,860
O=01H= 53,947,000& * 4.5% 2,428
OHZdEE= 53,947,000& * 3.335% 1,800
OIILYEE=Z 1,800,000& = 10.25% 185
[@E=1h=d 53,947,000& * 1.65% 891
OttHEEZ 53,947,000& * 1.03% 556
201 Bt A | 21,599 12,563 9,036
01 AP 22l Yl 21,599 12,563 9,036
OR1AH AIAE 300,000 = 128 * 95% 3,420
O - 24J| X2l
35,000 » 6CH = 128 * 95% 2,394
O3JI&838)] |A 22yl
45,000 = 13CH = 128 * 95% 6,669
OMA=I| =2l 300,000& * 1CH * 95% 285
OFANH2IES 50,000& * 85 = 13| * 95% 380
Ox&a ¥ HALES
100,000& * 78 * 128 * 95% 7,980
oY -2 SEZ 16,5003 * 302 A * 95% 471
EHCA2R2Y 267,130 268,219 A 1,089
SCCHP NBRHE 82,042 89,082 A7,040
201 LEt2AY| 10,492 10,782 AN 290
01 AFR2t2l bl 10,492 10,782 A 290
OFJII¢d:H=E 25 4,344
OsYX 15,000& * 15J0HAF » 128 % 95% 2,565




SN CARBMSSEE QST
M ZDCHY 29
SE R EEPEEE EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O Xl & X 13,000 * 129HAF » 128 * 95% 1,779
ooz 3= 1,160& = 5,3004 6,148
206 M = dl 5,300 5,800 A 500
01 XHZ HI 5,300 5,800 A 500
OEANE2 S 5,300
ORFID TAG 500& = 5,300H 2,650
Octd sk S 103 500& * 5,300H 2,650
405 Ko SHI 66,250 72,500 AN6,250
02 T A7 66,250 72,500 N6,250
O=A 12,500& * 5,300 66,250
SEECAZ Stz ) H &9 43,075 55,375 A 12,300
201 et A H| 41,475 50,775 A 9,300
01 At 2t2l ] 2,850 2,850 0
oOsMHMLE2Z2H 2,000& * 1,000 * 95% 1,900
OEN& EE= 2,000& * 5008 * 95% 950
03 S AIS H I 38,625 47,925 A9,300
OsSMSIEZ IS 29 24,860
OB+
35,0003 * 2A12F = 240l 8F = 123] 20,160
OZSdHate M= 70,000& * 109H 700
O=x=d &J13d 500,000& = 53| 2,500
OoZEz)dH 29 23 300,000 = 53| 1,500
O=sMs0tel =4 1,465
oswE +g
35,000& * 2A12F x 2J4BF x 63| 840
OEES TAHNFY 12,500& » 5= 10 625
OSEAANTH(UEEY) 500,000 * 33 1,500
O M&F2 &AL 1,000,000& = 13 1,000
OSAY At 1,000,000 = 13 1,000
OsSMBHZ 1,000,000& * 13 1,000
OWOIAAHOIA 2 7,800
OBA+E
35,000& * 2A12F = 4J4BF = 103 2,800
OEz ) H 29 23
500,000 * 2& * 53| 5,000
301 LEtE M= 1,600 1,600 0
09 HAIAHI XIS 2 1,600 1,600 0
O2sT=2 08 XNFSAA S|
8,000& * 10¥ * 203 1,600
EUCHY NEITN 29 33,559 27,107 6,452
201 et A | 1,559 1,757 A 198




SN CARBMSSEE QST
M ZDCHY 29
ciel: ESCNERY (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 1,559 1,492 67
oZelH EY 230,000& * 5JH * 95% 1,093
OE2ADI EY 270,000 * 1JH * 95% 257
O=2AEX 22,000 » 102fA = 95% 209
206 M = Hl 17,400 14,950 2,450
01 X2t 17,400 14,950 2,450
OHE3ldAS 6,800
osate 1,500& = 3,0004 4,500
OJteel & 80,000 * 252 2,000
Odle3acely 10,0008 * 302 300
OAItE SHE 3,000& = 4004 1,200
OEM E=Z2 HE 150,000& = 202 3,000
OXNSUHEEILED) 9= 21
3,000& = 4002 1,200
OAIZ2& I8t A 20,000& = 404 800
O X2 Al AR Al A& 100,000& = 4004 4,000
O8] 40,000& * 1004 400
301 dEtE M= 10,400 10,400 0
09 #HALAHI X &= 10,400 10,400 0
OXNIEANX Es4H|
20,000 » 5% x 104 10,400
405 KHoaHFE S HI 4,200 0 4,200
01 JHAHE 2 Z 5 S H 4,200 0 4,200
OUNHel ol XRrE A A It 1,050,000& * 44 4,200
SEC A2 AIEE2R X2 108,454 96,655 11,799
101 @121l 91,002 79,092 11,910
04 JI2ZtH2Z2XNEE S 91,002 79,092 11,910
OFA EEH B 81,896
O] 81,340 » 3Y = 262 * 128 76,135
OY &=t 200,000& * 3Y = 23| 1,200
O=2XNEE 300,000& * 3YH 900
OH X2 AH| 81,340& » 38 « 15¢ 3,661
o4l E8= 9,106
O=01HZ 83,848,000& * 4.5% 3,774
OHAESsE= 83,848,000 * 3.335% 2,797
OMISLUYEE= 2,797,000& * 10.25% 287
onggss 83,848,000& * 1.65% 1,384
OMTHEE =2 83,848,000& * 1.03% 864
201 Bt A H| 17,452 9,633 7,819
01 A2 22| 17,452 9,633 7.819
OR01AHl AIAE 250,000& * 128 * 95% 2,850




SN CHRBMSEZE Q&C AR
M ZRCNB 29
el S8 22 ?EA)
SA BB O () - MM - HES il H D=2
oOd - 2=I |FX2eltl
30,0003 = 4CH = 12& = 95% 1,368
O3J1¥83FI| sX &yl
45,0003 * 10CH * 128 = 95% 5,130
OH#A=I| ==2lbl 300,000& = 2CH = 95% 570
OEMZEES 50,000& * 88 = 13l = 95% 380
O3TM L HASE
100,000& » 65 * 128 * 95% 6,840
oY - 2=J| FZ 16,500& » 209 A « 95% 314
MNESEM2A2YE 83,656 86, 169 N2,513
NESEME U2ES 35,463 39,731 N4,268
201 LB-2d | 4,413 4,631 A218
01 At 2t 2|l 4,413 4,631 A218
oOFIIEE = 1,745
Oos2X 15,0002 = 40 Ab = 128 = 95% 684
OX X 13,0002 * 6IHAL = 128 = 95% 890
Ootsal 2 5,000& * 3OHAL = 128 = 95% 171
oor=2 7=l 1,160& = 2,30004 2,668
206 M= Hl 2,300 2,600 A 300
01 =8l 2,300 2,600 A 300
OEMEEES 2,300
ORFID TAG 5002 * 2,3004 1,150
otegEXs 103 500& = 2,30004 1,150
405 XHoHE S HI 28,750 32,500 A3,750
02 = A7l 28,750 32,500 A 3,750
O&AM 12,500& * 2,300 28,750
MEST N2 BtEZZ20Y 29 23,060 21,760 1,300
201 L2 | 22,100 20,800 1,300
01 At 2t 2|l 760 760 0
O=ALZE 2,000& = 4008 = 95% 760
03 A2 Z Hl 21,340 20,040 1,300
O=sM=2stEz2d 29 15,560
OL Mg
35,0003 = 2Al2t = 1501 EF » 123 12,600
OZHIHtE M= 70,000& = 8K 560
Ox=&d &JI3d 500,000& = 32| 1,500
oxz0Y 29 23 300,000& = 33| 900
osAsotel 54 780
O=HE ¢
35,000 = 2AI2F = 1JHBF * 43| 280
OEE8 TA7Y 12,500& * 58 » 8& 500




CHRBMSSES Q8T A
TTCHB 29
tEasCM22Y )
SN FHE - B(SA) - MEAY - BHES il 2
OSELA=L(AE2SY) 500,000& = 23| 1,000
O AMZt=2t #AL 1,000,000 * 13| 1,000
OSMALY HA 1,000,000& * 13l 1,000
O=AT X 2,000,000& = 13l 2,000
301 LEAF 960 960 0
09 ALAHIXIE S 960 960 0
O=zstZz g XNIASAX 2l
8,000& = 108 = 123l 960
MEsStAa Aegdes 29 14,906 14,243 663
201 Let24E] 1,711 1,448 263
01 At 22l 1,711 1,183 528
OZgH EH 230,000& * 400 = 95% 874
O=sAIl EYH 270,000& * 100 = 95% 257
O=sALE X 22,0003 = 59FA « 95% 105
O=sAI &Y™ 500,000& = 1J# = 95% 475
206 M= Hl 4,875 4,475 400
01 =8l 4,875 4,475 400
OUEsAS 2,850
OU&3te 1,500& = 1,000H 1,500
O2teel= 80,000& * 158 1,200
OslEzaeu 10,0002 * 158 150
OMIIE SHE 3,000& * 604 180
OEMd E8 H¥ 150,000& * 58 750
OXrZ &l AFOTAIAE 100,000 * 54 500
OXz4a PC 2% THM 195
OdllEA 35,000 = 30H 105
OIIEE 15,0003 * 30H 45
oot 15,0002 * 3M 45
oM 40,000& = 1094 400
301 LEAF 8,320 8,320 0
09 HALAHIX RS 8,320 8,320 0
OXNJASALA &S Atl
20,000 * 4% = 104 8,320
MEaSTME AMEERA 22 10,227 10,435 A 208
201 L2l 10,227 6,270 3,957
01 At 22l 10,227 6,270 3,957
ORo1&Hl AlAE 250,000& * 122 = 95% 2,850
od - 22J X &bl
25,0003 = 3CH = 12& = 95% 855
O3JI&8FJ |X2eltl
45,0003 = 5CH = 128 = 95% 2,565
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el
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MeE
ZSNB 2Y
S2C ALY

Jo
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i
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H
x
il

CEHE .S (3H) - MBAY - B2 il HDS2
OFANZ2ES 50,000& * 88 * 13 * 95% 380
03T Y HLEE
100,000& * 3&F x 128 * 95% 3,420
od -2 SEZ 16,5003 * 10=A + 95% 157
FHEAZ2 8 104,750 111,742 N6,992
ZUHENZ HNHEES 39,870 44,426 AN 4,556
201 LEt2 A Y| 7,470 7,706 N 236
01 At 22l Yl 7,470 7,706 N 236
OFJII2#HE S 4,686
O=2 X 15,000& * 179HAF = 128 * 95% 2,907
ORI K] 13,000& * 12JHAF » 128 * 95% 1,779
ootz =4l 1,160& = 2,4004 2,784
206 M=l 2,400 2,720 N 320
01 X2t 2,400 2,720 N 320
OENE2ES 2,400
ORFID TAG 500& * 2,4000H 1,200
Ooct¥gsis 108 500& * 2,400H 1,200
405 XtabF S| 30,000 34,000 A4,000
02 = A7 30,000 34,000 A 4,000
O&AM 12,500& = 2,400 30,000
WEAZ 23208 29 28,800 27,700 1,100
201 Bt A | 27,200 26,100 1,100
01 At 2t 2l Yl 3,800 4,750 AN 950
OS2 E 2,000& * 11,0005 * 95% 1,900
OENZ EE= 2,000& * 1,000 * 95% 1,900
03 At L ] 23,400 21,350 2,050
OsSHMEstEz)dH 29 16,280
O2Z A=
35,000& * 2A12F = 184 Bt * 123 15,120
OZSdate 70,000& = 84 560
OoEz)dH 89 23 300,000& * 23] 600
OFEBHAHSZZ ) 1,980
[OFPNE=
35,000& * 2A12F = 2JHBE * 123] 1,680
OoZEz ) dH 89 23 300,000& * 13 300
OSAsOtel =SHE =
35,000& * 2A12F = 1JHEE % 123] 840
OSg2ZANFH(E2EDY) 350,000& * 23] 700
O M&F2 &AL 800,000& * 13 800
O=SM2AY A 800,000& * 13 800
OsMNB=Z 1,000,000& * 13 1,000




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
os3d0ol&E MBlA 1,000,000& = 13 1,000
301 dEtE X = 1,600 1,600 0
09 #HALAHI X &= 1,600 1,600 0
O=2gZ=z 18 XAJASALA S &I
8,000& * 10¥ * 203 1,600
Z2UEN2 AEgEs 2d 22,209 20,257 1,952
201 et A | 1,559 1,757 A 198
01 AFR22t2l Yl 1,559 1,492 67
oZeglH EY 230,000 = 5JH = 95% 1,093
OZ2AJ] EYH 270,000& * 1JH * 95% 257
O=2AMEX 22,000 » 108fA = 95% 209
206 M = Hl 8,250 8,100 150
01 M= bl 8,250 8,100 150
OUHEIS 3,150
ousite 1,500& = 1,5004 2,250
O2teel & 80,000& * 102 800
Odle3aely 10,000& * 102 100
OANIIE SHE 3,000& = 3004 900
OFEN B8 H 150,000& * 28 300
OXNSUHEEE) 5 X
3,000& x 1002 300
OANZ2E J|8A 20,000& * 104 200
OXZ Al AFQIAIAEYS 100,000& * 2074 2,000
OXza PC 29 XM 500
(@) E=s 35,000& * 104 350
(OFIi=a= 15,000& = 54 75
(@8] E==s 15,000& * 504 75
O M 28| 40,000& * 1094 400
OdEZMEE 10,000& * 504 500
301 dEtEA = 10,400 10,400 0
09 HALAHI X &2 10,400 10,400 0
OXNEESAX =4l
20,000 » 58 « 104 10,400
405 XtabF S| 2,000 0 2,000
01 A&t =S F SHI 2,000 0 2,000
OXzdEal AIt 2,000
OttAal 6% MOt 400,000& * 5J4 2,000
ZUEN2 AIEE2R X 22l 13,871 19,359 N5,488
201 2yt 2 Y| 13,871 8,379 5,492
01 AFR2t2l bl 13,871 8,379 5,492




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=RoAHl AIAE 200,000& = 12& = 95% 2,280
Ood2+I |A2cltl
30,000 = 3CH * 128 * 95% 1,026
O3J1E3EI sX&eld]
45,0002 = 500 = 128 * 95% 2,565
OH#A =D =2/l 300,000& * 2CH = 95% 570
OM&Il SA2eltl
50,0003 = 1CH = 12& = 95% 570
ol dg ¥ |2l
30,0003 = 4CH = 12& = 95% 1,368
OFANZCES 50,000% * 88 » 13| * 95% 380
O & FLES
100,000& = 48 * 128 * 95% 4,560
oY - 2=J 3FZ& 16,500& » 202 A « 95% 314
oO&L &R ES 50,000& = 5& * 13 * 95% 238
SMHEM2RSE 107,863 109, 486 AN 1,623
SHTHE REHE 37,651 41,919 A 4,268
201 £B-2dH| 6,601 6,819 A218
01 At 2t 2/l 6,601 6,819 A218
OFIItdEE 7= 3,933
Os¢X 15,000& = 10J0HAL = 123 = 95% 1,710
OX X 13,000& = 15JHAL = 128 = 95% 2,223
ona+=4l 1,160& * 2,300 2,668
206 T2 HI 2,300 2,600 A 300
01 MHZ 4l 2,300 2,600 A 300
OZNECES 2,300
ORFID TAG 500& = 2,3000H 1,150
otg2Xs 108 500& = 2,3000H 1,150
405 XhAH3 S| 28,750 32,500 A3,750
02 SN R 28,750 32,500 £3,750
O&AM 12,500& * 2,300& 28,750
SUHCTHT 23 T2y 29 20,996 21,930 ~934
201 L2l 20,196 20,330 A 134
01 At 22l 3,800 3,800 0
O=sAE2ZE 2,000& = 1,000% * 95% 1,900
oM EEE 2,000& = 1,000% * 95% 1,900
03 & Ar2 Z I 16,396 16,530 A 134
O=sM2stEz2d 2g 10,206
OL A=<
35,0003 = 2AI2t = 130HEE » 123 * 90% 9,828
OZHItE M= 70,0003 * 6JH * 90% 378
OFEFHANSEZZOH 2,890
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SA BB O () - MM - HES il 2
OZN+g
35,0003 * 2Al2t = 3JHEL » 123 2,520
OZHItE M= 70,0002 = 1J4 70
OE2d 29 23 300,000& = 13| 300
SELA=E( Z) 350,000 * 23| 700
OEAM2=2t & 800,000& = 13| 800
O=sAHAY A 800,000 * 13| 800
0=+ & A 1,000,000& * 13| 1,000
301 LEAF 800 1,600 A 800
09 #ALAHIXIE S 800 1,600 A 800
O=3ZE208 NIASAMX =S|
8,000& = 53 = 203l 800
NEANP e 10,314 10,512 A 198
201 L2l 1,559 1,757 A 198
01 At 22l 1,559 1,492 67
OZgH EH 230,000& * 5J0 = 95% 1,093
O=AIl EYH 270,000& = 1JH = 95% 257
O ALE X 22,0003 * 1022 * 95% 209
206 M= Hl 4,595 4,595 0
01 M= 4l 4,595 4,595 0
OU=E3IAE 1,950
OU&3te 1,500& * 1,000 1,500
O3teel& 80,000& * 58 400
O I==E 10,0008 » 58 50
OMItE SHE 3,000 = 20074 600
O=MN 28 Hl 150,000& * 28 300
ORFID TAG E= 500& * 500K 250
OXNsSUHEEEI =5 EX 3,000& » 502 150
OAt= & Il 20,0002 = 504 100
OXZ &l AFCTAIAE 100,000 * 3M 300
oxz 4 PC 29Y 325
OdlEA 35,0002 * 5K 175
OJI8E 15,000& * 54 75
OobteA 15,000 * 50H 75
O ML 40,000 = 34 120
Od=ZH=2 10,000 * 500 500
301 etEd 3 4,160 4,160 0
09 SALAHIX A S 4,160 4,160 0
OXNASALX &S 4altl
20,0003 = 28 = 104 4,160
SAEN2 NEESS X2 38,902 35,125 3,777




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 30,337 26,365 3,972
04 JIZtNZ22XNSE+ 30,337 26,365 3,972
OFAx =5 2 27,300
Ol 81,3402 = 18 » 26& = 12& 25,379
OGZEF It 200,000& » 1 * 23 400
OSXEAUE 300,000& * 1 300
O X2 4| 81,340% = 18 « 15¢ 1,221
o4z 3,037
O=2d= 27,950,000 * 4.5% 1,258
Oda=EEE 27,950,000& * 3.335% 933
OINALE= 933,000& = 10.25% 96
ONIE="3--4=-F= 27,950,000& * 1.65% 462
OttHESE = 27,950,000& * 1.03% 288
201 £et23E | 8,565 4,845 3,720
01 At 22l bl 8,565 4,845 3,720
ORI ZHl AIAE 200,000& = 128 = 95% 2,280
od - 2=+J =&l
30,000& = 3CH » 128 » 95% 1,026
O3J1EEI KA 22t
45,000 = 3CH » 128 » 95% 1,539
OBMN2ACES 50,0008 = 95 33 * 95% 1,283
oz & F2E3
100,000& * 2& = 128 * 95% 2,280
Od - 2xJ S5& 16,500% » 102fA » 95% 157
hE2= A2 24 249,231 0 249,231
NN N2EE 127,303 0 127,303
201 fEt2E | 19,303 0 19,303
01 At 22l bl 19,303 0 19,303
oFIIAndE=E = 6,223
OosgX 15,0003 = 15JHAL = 108 = 95% 2,138
OXIXR 13,0002 = 1000 At = 10 * 95% 1,235
O8I 2 30,000& = 1085 = 10& » 95% 2,850
©VOD A HlA 400,000 = 10E = 95% 3,800
O3+ =l 1,160& = 8,0004 9,280
206 =8l 8,000 0 8,000
01 =l 8,000 0 8.000
O=NE2ES 8,000
ORFID TAG 500& * 8,000H 4,000
OcteEXS 108 500& = 8,0009H 4,000
405 TtatFH S 100,000 0 100,000
02 =M=l 100,000 0 100,000




SN CARBMSSEE QST

E: ZTCAB

CEB P (3H) - NRAY - B ofl &t o SSa HDE2
O AM 12,500& = 8,000 100,000
24+EAS St 24 23,670 23,670
201 et A H| 22,070 22,070
01 AR 22l ] 3,800 3,800
oOsSMHMLE2Z2H 2,000& * 1,000% * 95% 1,900
OENZE EEB= 2,000& * 1,000 * 95% 1,900
03 S AIS H I 18,270 18,270
OsSAHMREzNdH2H 14,220
OBA+g
35,000& * 2A12F = 12018 = 123] 10,080
OZSdHIHte M= 70,000& * 1204 840
Ox=& dJI3d 350,000& * 63 2,100
OZEz)dH 29 22 300,000& = 43| 1,200
oN&AIE A3 350,000& * 33 1,050
OSsS MY A 1,000,000& = 13 1,000
OSSN =Z 2,000,000& * 13 2,000
301 LEtE M= 1,600 1,600
09 HALAHI X &= 1,600 1,600
O2sZ=z 18 XAASALA S S|
8,000& * 10¥ * 203 1,600
I24E N HELTN 29 36,097 36,097
201 et A | 4,047 4,047
01 At 2+2/H 4,047 4,047
oZelH EY 230,000 * 1000 * 95% 2,185
O=2AI EY 270,000 * 400 * 95% 1,026
O=2AEX 22,000 * 408FA * 95% 836
206 M = Hl 16,050 16,050
01 24l 16,050 16,050
OHE3AS 7,900
ousote 1,500& = 3,0004 4,500
O2teel & 80,000& * 402 3,200
Odl=3acely 10,0008 * 202 200
OAItE SHE 3,000& * 1,000 3,000
OCM E=Z2 HE 150,000& = 102 1,500
oXNsUHsEEE) g9+ X
3,000& = 3002 900
OXza PC 29 XM 650
(@) E=s 35,000& * 104 350
O2IBE 15,000 = 104 150
ootA 15,0002 * 104 150
OEHM BHUATH 100,000& * 6H 600




B H
>
i)
0kl
0z
Jo
]S
r
i
0]
Of
H
x
il

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
O M EH| 40,000& = 20CH 800
O=AMM 20,0003 = 2004 400
oOxEZHEE 10,0002 * 30H 300
301 LEPEAZ 16,000 0 16,000
09 HALAHIXI &3 16,000 0 16,000
OXNASALAL &S Al
20,000& = 109 = 80 16,000
I2E M2 AIEES K22 62,161 0 62,161
101 1244 dl 43,355 0 43,355
04 JIZHHZ22XREE S 43,355 0 43,355
OFA JIZMIZZ2X E= 38,969
ool 69,7603 * 2% * 262 « 103 36,276
OFEFOtHI 200,000& = 3H « 13 600
OAXE &I 69,7603 * 3H » 10& 2,093
c4liEd = 4,386
o383 40,364,000& = 4.5% 1,817
OFaR= k= 1= 40,364,000& * 3.335% 1,347
OWIRLEEE 1,347,000& * 10.25% 139
CnE:2gz 40,364,000& = 1.65% 667
OtHEE = 40,364,000& = 1.03% 416
201 Let24d] 18,806 0 18,806
01 At 2teltl 18,806 0 18,806
OR21&Hl AlAE 300,000 = 12& = 95% 3,420
Od - 2=J |FX 2l
40,0003 = 5CH = 10&@ = 95% 1,900
O3J18&EI| sX&eld]
45,0003 = 10CH = 10&@ = 95% 4,275
OFAZLIES 50,000& = 8F * 23 * 95% 760
O3t & FLES
100,000& = 8& = 108 = 95% 7,600
oY - 2=J] 3FZ& 16,500& » 302FA « 95% 471
oM EE 50,000% = 48 » 23] * 95% 380
HHR2IYIH (S EMESSEE ET ) 1,812,102 1,676,244 135,858
= 223,788
< 111,894
Al 1,476,420
ol 2 gl 1,476,579 1,368,959 107,620
= 223,788
< 111,894
Al 1,140,897
ol | 740,138 678,902 61,236
101 @14 dl 740,138 678,902 61,236




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol 2y (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
03 RIAHAZ 22+ 740,138 678,902 61,236
OAMAN SR 2 52,068
oJlasus) 3,002,110& * 1H » 123 36,026
o254 150, 100& » 198 = 128 1,802
O&d=+¥ 50,000& = 1¥ = 128 600
OxU22+E 457,600& = 1% = 128 5,492
Oz &l 140,000& » 1 = 128 1,680
OS82 30,000& = 1% = 128 360
OfEs=E 120,000& » 1€ = 12 1,440
Og 2 FItdl 1,501,050  1&¥ » 23 3,003
O I E & Hl 110,960& = 1F = 15¢ 1,665
ONZAE2YE S2A B 473,948
OoJlaa(ttag) 2,407,770& » 129 » 128 346,719
OozZ2s+% 120,380& » 12% » 128 17,335
O&d=+< 50,000& = 12% = 12& 7,200
OxH2ZR=+E 169,500& » 12% » 128 24,408
Oz &l 140,000& = 1298 = 128 20,160
OE+=X2+8 30,000& = 128 = 123 4,320
ONEs=g 60,000& = 12% = 128 8,640
OZEFotyl 1,203,880% * 12% = 23| 28,894
OEItE 4fHI 90,400 = 12% = 15¢ 16,272
OF3A BR% B 147,290
oJlezs(t2) 2,252,460 * 4H » 123 108,119
o254 112,620& » 49 « 128 5,406
O&d=+¥ 50,0008 = 4% = 128 2,400
OxU2=2+E 159,400& » 498 « 128 7,652
Oz &l 140,000& *» 49 = 128 6,720
OE+ARH 30,0003 = 4% = 128 1,440
OEs=E 40,0003 = 3¥ * 123 1,440
OZ 2 Ftdl 1,126,230 * 4H » 23| 9,010
OgItE &4l 85,0408 = 4% = 15¢ 5,103
OZ22R%A 4U2E =z JIARES 66,832
O=0d= 615,538,000& * 4.5% 27,700
OHLEEE 615,538,000& * 3.335% 20,529
OFIILEE= 20,529,000& = 10.25% 2,105
(ONE=2-0= 615,538,000 * 1.65% 10,157
OMTHEH 615,538,000& = 1.03% 6,341
TTCHY BN A2Y(23) 175,623 166,857 8,766
= 52,656
& 26,328
Al 96,639
101 1Al 175,623 166,857 8,766




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 52.656
= 26,328
Al 96,639
03 RIAHAZZ2E = 175,623 166,857 8,766
OZBRAZZXN B 158,560
OJles 2,368,920& » 4 » 128 113,709
= 52,656
= 26,328
Al 34,725
OF=t L=y 118,440& * 4H » 12& 5,686
(OFS == Eag=y 50,000& = 4¥ » 128 2,400
OZEFOtHI 1,184,460& *» 4% * 23| 9,476
Ooxzuze=¢ 167,100& = 4H » 123 8,021
O=&l 140,000& * 4% = 12& 6,720
OAHIIE 4| 89,120& = 4% » 15 5,348
OExZRH 30,000& = 4¥ » 12& 1,440
Oonsxe 120,000& * 48 = 123 5,760
O3 4U2E =z JI&2RES 17,063
Oo=38a=z 157,134,0008 * 4.5% 7,072
OHZ=2BE = 157,134,000& * 3.335% 5,241
OIQYEE = 5,241,000& = 10.25% 538
OnE:d 157,134,000& * 1.65% 2,593
O&MEE 157,134,000& * 1.03% 1,619
TTEAZ HBAIZ ABSY(NR) 171,999 161,809 10,190
= 52,656
< 26,328
Al 93,015
101 14 dl 171,999 161,809 10,190
= 52,656
< 26,328
Al 93,015
03 RIAHAAZZRE > 171,999 161,809 10,190
OSRAHIZZXN B 155,288
OJles 2,330,240 » 4% » 128 111,852
= 52,656
< 26,328
Al 32,868
o254 116,510& * 48 » 123 5,593
(OFSg=Eag=y 50,000& = 4¥ » 12& 2,400
OFEFtHI 1,165,120& = 4% * 23| 9,321
Oozxzuz2e=¢ 164,500& * 4H » 12& 7,896
O=&Ht| 140,000& * 4H » 123 6,720
QA2 &I 87,7603 * 4H » 15 5,266
OS+=2ExH 30,0009 * 499 * 128 1,440
On=EY 100,000& * 4H » 123 4,800




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O32RH AHEE=E JI2RES3 16,711
O30z 153,884,0002 * 4.5% 6,925
OHLEE= 153,884,000& * 3.335% 5,133
OFIRLEEE 5,133,000& * 10.25% 527
ons=sg 153,884,000& * 1.65% 2,540
OtHEd 153,884,000& * 1.03% 1,586
SBEAMZ A2 AERH(EY) 173,494 160,816 12,678
= 52,656
= 26,328
Al 94,510
101 @124l 173,494 160,816 12,678
= 52,656
< 26,328
Al 94,510
03 I AHA2Z 2 HE > 173,494 160,816 12,678
OZ2RAZZXN B 156,640
OPIR--3= 2,368,920 * 49¥ * 123 113,709
= 52,656
= 26,328
Al 34,725
OF=E=F = 118,440& * 4H » 123 5,686
(OFSF=E=; 50,000 = 4% = 12& 2,400
OFEFItHI 1,184,460& * 4H * 23] 9,476
Oxz2Zf=¢ 167,100& » 498 » 128 8,021
O= &l 140,000& *» 49 = 128 6,720
OHAHIE &I 89,120& * 49 « 15¢ 5,348
OE+AExH 30,0003 = 48 » 123 1,440
OnExY 80,000& = 4% » 12& 3,840
O32A 4UHEE JI1&2g3 16,854
O30z 155,214,000& = 4.5% 6,985
OHLEE= 155,214,000& * 3.335% 5,177
OFIAEER 5,177,000& * 10.25% 531
onssg 155,214,000& * 1.65% 2,562
Ot THESH 155,214,000& * 1.03% 1,599
TTEAB HBAIZ ABSY(ZU) 129,323 118,496 10,827
= 39,492
< 19,746
Al 70,085
101 1A Hl 129,323 118,496 10,827
= 39,492
< 19,746
Al 70,085
03 RIHAZ 22+ 129,323 118,496 10,827
O=2% 2£(39) 116,760




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(OPIE=3= 2,368,920 * 3¥H x 128 85,282
= 39,492
o= 19,746
Al 26,044
o=2s52Y 118,440 * 3Y = 128 4,264
O 50,0008 = 3H x 12& 1,800
OY ZE =t 1,184,460 * 3Y x 23] 7,107
O=m224Y 167,100& » 3Y¥ x 12& 6,016
Oz &l 140,000& » 39 = 12& 5,040
OdIIE A | 89,120& » 3 x 15¢ 4,011
OEx&RxY 30,000& = 3% » 12& 1,080
OEE 60,000& = 3¥ = 128 2,160
O222 4UEEZ2 J|282 12,563
O=01H=z 115,690,000& * 4.5% 5,207
OAdEEZ 115,690,000 * 3.335% 3,859
O&ILEE S 3,859,000& * 10.25% 396
Onsed 115,690,000 * 1.65% 1,909
OMMES 115,690,000 * 1.03% 1,192
ST A2 O 2Al 29I (S4) 86,002
2 26,328
< 13,164
Al 46,510
101 @1 21| 86,002
= 26,328
o= 13,164
Al 46,510
03 2I1H 42 86,002
02222 F24(29) 77,645
oJes 2,330,240& = 2% * 128 55,926
= 26,328
= 13, 164
Al 16,434
o=2s542¢ 116,510& » 29 x 12& 2,797
O&HLE 50,000 = 2 = 12& 1,200
OY ZE = 1,165,120 * 29 * 23| 4,661
O=u=22ae 164,500 * 2% = 128 3,948
O= &l 140,000 * 29 = 128 3,360
O I AHH| 87,760 » 2 x 15 2,633
OEx&RY 30,000& * 2% x 12& 720
OIESY 100,000& » 29 x 12& 2,400
OZ222 428z J|a282g2 8,357
O=01H= 76,943,000& * 4.5% 3,463
OHZLdEE= 76,943,000& * 3.335% 2,567
OoOIIYEE=z 2,567,000& * 10.25% 264




SN CHRBMSEZE Q&C AR
HE: UYL YA (CANDBYSSER QETHE)
Sel: o2y (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
onEsEs 76,943,000 * 1.65% 1,270
OMTHEE 76,943,000 * 1.03% 793
| 23t 335,523 307,285 28,238
Jl2AH| 335,523 307,285 28,238
201 et 9| 306,843 270,739 36,104
01 AFR 2t 2| bl 38,855 32,714 6, 141
OJI2dL=HAH|(JI=HH|)
500,000& = 259 * 90% 11,250
OS==H|(JI=&Hl)
8,0008 * 34% x 8L x 128 * 90% 23,501
OHALE 22=
120,000 * 9% * 23| * 95% 2,052
O/NUE2(7TIHA)
20,000 = 9CH = 12€ * 95% 2,052
02 Z=22%H| 267,988 238,025 29,963
oORTR= 1,750
oLt 350 = 1,500= 525
OS2Il 2,450 * 500= 1,225
O&X=2AID| KXl &2lb]
3,700,000 * 8CH * 8% 2,368
oNE2 222,130
OJI2e=2 6,800& = 704 = 183kw ~ 128 104,530
ONSsSHER=2
100& = 702 * 14,000kw * 12& 117,600
OH -otxx=R23 1,600 * 1,000m = 12€& 19,200
OZAIA 22 (2U)
950 « 1,100m * 12€ 12,540
OXNsXEE 800,000& * 2CH 1,600
O Xt= XA 100,000& = 2CH 200
OXtg et 8,000
Os& R 6,500,000& 6,500
O=EXH(HEI|X}) 1,500,000 1,500
OB MEHEZ 200
OXsxs 100,000& * 23] 200
202 044 21,600 26,266 N4 666
01 2Lyl 21,600 26,266 A4 666
OJ|=Z&H|
20,000& * 259 * 62 « 128 * 60% 21,600
203 €2 F=&d| 7,080 6,780 300
04 EASHEIRFEH| 7,080 6,780 300
OJ| &= 7,080
OJ12(30H0l5t) 400,000& = 12&€ 4,800
O (31HO| &) 5,000 = 38 x 12& 2,280




Al A

=

o,
=

Ol &b A

Al

.

&l
{0
ol
%0
=0

I+
;1
R{ii
ol
%0
=0
)
z
H

A
x
W

il

I+
;1
R
ol
%0
=0
)
z
H

o}
)
oll

20218 & 20

Tl
oF
aJ

A

4D

iior

20

50

now

@ T

wr © o)

S

3

0 4D <11

A ol ol

TN

W 0 &0

T EoF

I+ R0 O

Nl lolw |lw ~ [~
<t | O | — | O | O | D @ | ™
ClNIN [N ]C [« — |
-+ olo [ ~N]O | ™ | ™
n0 KIR || S
El
E=]
AN O |~ | O O D | D
M~ O | © | © | © | O [o) I @)}
NS [R ]2 NN
OO | | O | v |Wv o | O
A || O™ N =<
War | 2| S| F ||~ |7
uil=d I R
RS
DO | O M Y © O IO O© O — O K~ M O M 0O O M| O |l NN uvH MW v O O O O o o o I <
NSRRI |8 8 6 838 S B I B3R 8T XY CEDNQRIESITESTEL 28D S 2 8 & &
wlo|l—-|=-|ldadl|lad o = < o - - - < — o o Sl @ = o N N o — o — ®» ©
Blo |83 |22 & 2 - ~s Y @
- | ©
s | ==
wdl
=3
WS B B S5 S o ol & mDSDDS E E E W oW oW W ™ oW a
Ny decSdws wogdaes T Eg YNN8 - N
D._—n **Qu. mHM*** **3wwﬂ A_HONHHUPOv x X X *x * *x *x
0 oW W 50 om ® IR © wowow B %
g 8 w WS o o« ¥ 8 Q8 W H S & = < o 8 8 8 3 3 3 3
BJ S o o S S x S o o & & o X of S &5 B S - S S
c e 3 S 2 2w 3 e 83 2 2 Y @ g o o o 3 o ~
0 5 oo - o o o H & < B~ N © <+ ® © & — re — S —
3l o0 o © ~ - 5 o B0 ® ® o ® © - - SV — ™
<t -~ = QQ WU v o < ~— -~ O © oo o© <t <t
—- — 1< I <) o o ™ - -
M. T "% < ©35358<Z T T S e 2 I u
ar oW S N © oW - <k <k
X m_m a0 m_m T <+ <k
- ¢ R = o mm w_ﬂ (o1 =g mm flo iy 0 %0
= [» W nL Wy v R = 5
A e - o) o IF @ E I+ i oF =
o B o o W =) = Ui Ui o o
o % Koo o 80 = = 0 0 ] Al
& 0 wr | 7 W g D 8 H O TS5 il H|T |z # pd bl
. t I nJ T @ R~ Ry ~0 = | 8 (8 T 3l ol
. o+ Sl=|D|E 4 m & R <4 &) ool = ~ 20
&/l T - o Mo TR RO O O O ®0 @) O |5 [H ®o Bl <
R ™" |~ © ©) ol |0 © ©) ©
o ol M [ | — | = — |
= - o | O o | O
g 004D [ wr | &r | = I8¢
* HOfor | 20 [ 7
20| =
X | m
H




SN CHRBMSEE HySsD
M s T
ool WSS JIBRE CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMR=Z2 200,000& » 12& 2,400
OFARHH 2l ==2 7,500
o2 275,000& = 12& 3,300
Oagd=2a 130,000& » 12& 1,560
OME=Z2 220,000& = 12& 2,640
206 M= Hl 13,668 10,628 3,040
01 =8l 13,668 10,628 3,040
odz=) =S54 16,5003 » 202 A 330
OFAZZE HAEE (22 M &Y)
130,000& » 12& 1,560
OstEA ZIFSH L (22 A &)
8,500& * 174 + 12& 1,734
OsHEAE &
3,700% * 48 » 1201A « 128 2,132
OFAZ2E AB2F 2,823
OEZM=SE 1,770& = 70& = 12& 1,487
OS4SMYI| LRES(R2Y)
3,600& = 8 = 12& 346
O&i =21 13,2002 = 20& 264
OMBIE21 14,3002 = 20& 286
O&FAIDI 22,0003 = 20& 440
OFMYY 22ES 2,050
O&a=H 130,000& * 5% A 650
OaZA=H 90,000& = 104 900
OHlE=4A M2 100,000& * 54 500
OAENM eSS (HAE 2 25)
100,000& » 38 » 34 900
QJIHEH 2eES 800
Ost&Ea =835 & 105 20,000& » 204 400
Odu)| 2EHM S 153
20,000 * 204 400
OANE22E AR2F 1,339
OXYTHM 33,0002 = 1304 429
O& I AHM 70,0003 = 134 910
401 Al IR 201 I 413,818 23,600 390,218
01 A& Hl 412,558 23,600 388,958
o222 3 WH SA 362,558
oz FSuM(AF) 350,000,000 350,000
oz Hsud AA&A
350,000,000& * 5.98% * 60% 12,558
o2& HuUXdE 2 12,000,000& * 13l 12,000
o2 - NEE22 Wdds8I 84
19,000,000& = 200 & 38,000
03 A& S THHI 1,260 0 1,260




SN CHRBMSEE HySsD
M HMsts D
SRl BAsE RS EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o=z FZWHSA AL R0
350,000,000& * 0.72% * 50% 1,260
405 XHoHF S HI 11,000 0 11,000
01 AL ESFH S 11,000 0 11,000
OZg M olsa EHMoclZE 2¢
11,000,000& * 1CH 11,000
gdsig 3NgF A 20,767 194,253 A173,486
101 @124l 12,067 11,855 212
04 JIZHHZ2XNSE =+ 12,067 11,855 212
o2z NA2Y 12,067
ool 69,7603 * 18 * 26€ ~ 63 10,883
O=RdsRE= 10,883,000& * 4.5% 490
OHLEEERES 10,883,000& * 3.335% 363
OEINLAEEEZLE S 363,0008 * 10.25% 38
OLsEEERE3 10,883,000& * 1.65% 180
OtHEEESRE= 10,883,000& * 1.03% 113
201 £B-2d| 6,700 94,018 A87,318
01 At 22l 2,700 57,718 A55,018
OFFANBMU=SHS HAx=E 2,700
Os4dsg 100,000& = 9H =« 23| 1,800
O M= 50,000& = 99 = 23] 900
02 22224l 4,000 4,000 0
OBMSSTABAL 22
4,000,000& =« 13l 4,000
203 R =&t 2,000 0 2,000
03 AIBF=XH S Z=ZH| 2,000 0 2,000
OAH=XH I =AY 2,000,000& 2,000
gelEdus 29 586,833 525,242 61,591
BN 29 575,509 513,259 62,250
201 L2l 484,059 440,624 43,435
01 At 22l 469,973 430,654 39,319
ousd2y 222 M 13,870
Ot =2 L858 ASE
3503 * 2,00001# * 28] * 95% 1,330
Ot =2 LSE USE
4002 = 2,00001 = 23] * 95% 1,520
OUWsHM QF TAH - -2 M
4003 = 11,0000 * 23] * 95% 8,360
OnsY 2 sx
70,000& * 2008 = 23] * 95% 2,660
OBMuUE Mg
35,0003 * 119t= = 3AI2t * 32 399,840




SN CABBMSSES BASSD
M s T
E: SEHMIE 2F (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHIISZ ZAt=E 350,000& » 201t= 7,000
OBMES AA A U5 DT BMEY
350,000& * 43 1,400
OBMDS YMUT HEN AALT
130,000& » 5% = 42 * 23| 5,200
ousd HF 4003 * 1,5309 = 23| = 95% 1,163
Ost&Hl IEZH =28
100,000,000& * 3% * 23| * 95% 5,700
OZMA OldAX (g2 28
2,000,000& 2,000
OBMSIS ZUE W AAH 20184 0)
8,800,000& * 12 8,800
OmMSEE BAE oY SNLLH(H2)
5,000,000& 14 5,000
OAMOIHHEMSIS AIAE 082
1,250,000& * 1228 15,000
OHisUsI f+st&S0tcl ZAHH M=
100,000& * 54 500
OBMEE SAE o) SEUK(2BY)
1,000& = 1,0000H * 32l 3,000
OHOIE WA ATEO (BMSS ZAE,
FA0IE HEH M) 750,000& * 22 1,500
02 =24l 8,886 4,770 4,116
ozoa |X2el 1,650, 000& 1,650
OYs&EH X 2e 39,000,000& = 8% 3,120
OEHOIX X2 (s, RH0IE HHSH)
93,000& = 123 1,116
OZMWOIX AHRs HZt 0IER
3,000,000& 14 3,000
03 A2 S HI 5,200 5,200 0
Oousd o FHsss0el IS8 =EAM
2,600,000& = 23| 5,200
206 M= Hl 14,340 15,140 A 800
01 =8l 14,340 15,140 A 800
ORecld & 2oy NEME(2) 8,100
Oogeld 700,000& = 53] 3,500
ogeoa 500,000& = 63l 3,000
O=22% 400& = 2,000% = 23l 1,600
OReld ¥ 2oy NEME(MIEZ) 4,000
Oogeld & Zoa 450,000& = 83l 3,600
OF K= 400 * 50098 = 23 400
OZoa NNz (A4g2R) 2,240
ozeoa 500,000& = 43| 2,000
O=+=28 4003 * 300E « 23l 240
207 A RO 2| 54,300 0 54,300
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